EFnZmAdN-=
WMSC)

RENOLD

Superior Chain Technology

http://www.mspower.co.kr

.2l
=]

Z 50571 ZdLt AAA| AN 1096
TEL, (055)388-2411~2  FAX (055)388-2413

50620 Lt LUMA| UF12 5

TEL, (055)382-1101~2  FAX, (055)388-2428
46079 SATOIA| AT AR 454121 5311235
TEL, (051)311-9801~2  FAX, (051)311-9807

15116 27| = AlSA| HYS STI0|E 25612 30
TEL, (031)434-8271~2  FAX, (031)434-8270
08215 MSSHA| 127 2012 53812 62

TEL, (02)2672-6851~2  FAX, (02)2672-6853
34366 CHMEIA| LT ChEl2 150812 42-6
TEL, (042)672-4823~4  FAX (042)672-4825
41502 CHTZOIA] ST itz 40812 41-1(MZE)
TEL, (053)381-6341~2  FAX, (053)381-6343
62238 ZFBAA| BNT HI0IEYUER 318412 26
TEL, (062)959-2411~2  FAX, (062)959-2413

N3LSAS Y4IMOd OSSNIN

910z 6ojeje) jeisuan

BYIVBIRS ) @

since 1998

MUSSO POWER SYSTEM

GENERAL CATALOG 2016

S (F)SAMAUA AW WMSC) RENOLD

MUSSO MUSSO POWER SYSTEM Superior Chain Technology



 and satisfaction

Our Success,

o
T

ko] Eguch

K] S EE




!

I
R
Chain & Sprocket |*.#*

5

ol ®
: = =
K




+ #Ql & Az Chain & Sprocket 6 MUSSO POWER SYSTEM 7

MS 25 =<1 222 |9l (standard roller chain) MS 25 2=2{ |2l A2} (Roller chain sprocket)

$2.31 | i

(¢

48 38

6.35 |
AT
2 i
i< }
H
©
. _ o A K.S mthets MS "# mittsts 3 sesE pIEIETs
HQIHS N =T K.S Minimum MS Average = ad
- umber of : : Max. Allowable Load | Approx. Weight
Chain No. Strands Ultimate Strength Ultimate Strength (Kah (Ka/m)
(Kgh (g ’ s
MS 25-1 1
MS 25-2 2
525 10 2 2055 17.25 14 15 5 50 105 101.13 97.83 50 20 95
11 25 22.54 19.24 15 15 5 51 107 103.15 99.85 50 20 95
12 28 2453 21.23 15 15 5 52 109 105.17 101.87 50 20 95
13 30 2653 2323 20 15 8 53 m 107.19 103.89 50 20 95
14 32 28.54 25.24 20 15 8 54 13 109.21 105.91 50 20 95
Eadxct =245 o . 15 34 30.54 27.24 20 15 8 55 115 11.23 107.93 50 20 95
‘ SS1lE S5 (Kilowatt rating tables) 16 36 3255 2925 25 15 8 56 17 113.25 109.95 50 20 95
17 38 34.56 31.26 25 15 9 57 19 115.27 111.97 50 20 95
P = 6.35mm{4” ) (£ Kw) 18 40 36.57 33.27 25 15 9 58 121 11729 113.99 50 20 95
19 7] 38.58 35.28 28 15 9 59 123 11931 116.01 50 20 95
A2 AZapsl 3|34 (rp.m) 20 44 40.59 37.29 28 15 9 60 125 121.33 118.03 50 20 95
21 46 4261 3931 28 15 95 61 127 12335 120.05 50 20 95
100 500 900 1200 | 1800 2500 3000 3500 4000 4500 5000 5500 6000 6500 7000 7500 8000 8500 9000 10000
- 22 48 4462 49132 30 15 95 62 129 12537 122.07 50 20 95
REN A B (CD) 23 50 46.63 4333 30 15 95 63 131 12739 124.09 50 20 95
1 [ 004 017 029 037|054 073 08 098 106 089 075 066 057 051 046 041 037 034 031 027 24 52 48.65 45.35 30 15 9.5 64 133 12941 126.11 50 20 9.5
12| 004 019 032 041|060 080 094 108 121 101 08 075 066 058 052 047 043 25 o B0I66 /56 85 15 25 65 125 B3 125315 50 20 g5
13 [ 005 020 035 045|065 087 103 118 133 114 097 084 074 066 059 053 048 40 0.34 26 56 52.68 49.38 35 15 9.5 66 137 13345 130.15 50 30 9.5
14| 005 022 037[048 070 095 111 128 144 128 109 094 08 073 066 059 054] 049 045 038 2 28 S Bl 85 15 25 6] 129 B2 B2 50 20 g5
15[ 005 024 040 052 075 101 120 138 155 141 121 104 092 081 073 066| 060 054 050 043 28 60 56.71 53.41 35 15 9.5 68 141 137.50 134.20 50 30 9.5
29 62 58.73 55.43 35 15 95 69 143 139.52 13622 50 30 95
16 | 0.06 025 043 | 056 081 109 128 148 168 155 133 115 101 090 072 066 060 055 047 30 64 60.75 5745 35 15 05 70 145 141.51 138.24 50 30 05
. | 17| 006 028 046 060 08 116 137 157 178 170 145 126 088 079 072 066 060 051 3 €6 €277 £9.47 S 2 o 1 147 14356 14026 £5 30 o
18| 007 029 049 064 092 124 145 168 189 186 158 137 095 087 078 072 066 056 3 68 64.78 61.48 20 20 05 7 149 145.58 14228 50 30 05
219|007 031 052| 068 098 131 154 178 201 201 172 149[ 131 116 104 093 085 078 071 060 33 20 €6.60 €350 P 20 o - 151 14760 14430 £5 30 o
20 [ 007 033 055 072 103 139 163 1.88 212 217 186 1.61| 141 125 112 101[ 092 084 077 066 34 7 68.80 65.52 20 20 95 74 153 149.62 1463 50 30 05
A | 21| 008 034|058 075 109 146 172 198 223 233 200 173 152 134 120 109 098 090 08 071 35 74 70.84 67.54 40 20 95 75 155 151.64 14834 50 30 95
o | 22| 008 036 061 079 114 154 18 208 235 25| 214 18 163 144 129 ] 116 106 09 089 075 36 76 72.86 69.56 40 20 95 76 157 153.66 150.36 50 30 95
“ | 23| 009 038|064 08 120 161 190 219 246 268 229 198 174 154[ 138 125 113 103 095 081 37 78 74.88 71.58 40 20 95 77 159 155.68 15238 50 30 95
2 | 24 | 009 040 067 087 126 169 199 229 258 286 244 211 185 164 147 133 120 110 101 087 38 80 76.90 73.60 40 20 95 78 161 157.70 154.40 50 90 95
| 25| 010 042 070 091 131 177 208 239 269 300 260 225 175 157 141 128 117 107 09 39 82 78.91 75.61 40 20 95 79 163 159.72 156.42 50 30 95
28 [ 011 | 047 080 103 148 199 235 270 304 339 307 266 233 207 18 167 15 139 128 1.09 40 & 80.93 77.63 20 20 23 80 165 1e1.74 158.44 20 30 23
] 87 82.95 79.65 50 20 95 81 167 165.78 160.46 50 30 95
o | 30| 012|051 08 111 160 215 253 291| 328 365 341[ 295 259 230 206 18 169 154 141 121
£ ® 89 84.97 81.67 50 20 95 82 169 163.76 162.48 50 30 95
© 032|013 )05 092 119 172 231 272 310 351 _391[ 375 325 28 253 227 204 18 169 155 133 P o1 8699 83,69 20 % os = b 16781 reast S 2 o5
T 35| 014|060 101 131 180 254[ 299 344 387 431 430 372 327 289 260 233 213 194 178 152 " p 29,01 8571 20 % as o 174 160.83 16623 20 2 e
40 | 016 [ 069 1.7 151 219 293 | 345 397 [ 448 498 525 455 399 354 317 28 260 236 217 186 P p 9103 o073 20 % os . 176 17185 16858 s 2 o
45 018 | 0.78 133 1.72 248 | 333 392 | 451 508 565 621 543 477 422 378 341 310 283 260 222 46 97 93.05 89.75 50 20 95 86 178 173.87 170.57 50 30 95
50 [ 021 088 148 192| 278 373 [ 439 505 570 633 696 636 558 495 442 399 363 331 304 260 4 99 95.07 91.77 50 20 95 87 180 175.89 17259 50 30 95
55 | 023 097 165 213| 307 413 | 487 560 631 7.02 768 733 644 571 511 460 418 38 351 299 48 101 97.09 93.79 50 20 95 88 182 177.91 174.61 50 30 95
60 | 025 1.07 181 235| 338 [454 536 615 694 7.68 843 736 733 651 58 524 476 435 399 341 49 103 99.11 95.81 50 20 95 90 186 181.95 178.65 50 30 95
ML 22 HFAYA L FHEE TR L. F) L EY H42 QA B9-5 el glenz AR Ao dW7|AEA Vel m A4 FAAL. T, 719 kel HellA e 2 Aoz A4 uigyh




+ H|Ql & AZ2}Z Chain & Sprocket 8 MUSSO POWER SYSTEM 9

MS 35 =< 222 |9l (standard roller chain) MS 35 2=2{ |2l A2} (Roller chain sprocket)

&
g [ - 1l = 1 . > _
2 @
(9358 || .|77| ‘I"H ’4 i[
of =" ] ag
#5.08 Qo
EDCDO:
9.525 | 9.525
I . .
o T (=]
27 EF_DE 37
Jort — | - = R
A == olg
<
. _ o A K.S mthets MS "# miEtsts 3 sesE pIEI =T
HQIHS =T K.S Minimum MS Average = el
Chain No R Ultimate Strength Ultimate Strength Max. Allowable Load Approx. Weight e = e
: Strands Kah (kg (Kgf) (Kg/m) ol&2|H ol&2|H
PNIE= PNIE=
MS 35-1 1 800 1,150 220 033 5 5
MS 35-2 2 1,600 2,300 370 069 320 10 35 30.84 25.78 20 2 8 50 157 151.70 146.62 100 35 95
MS 35-3 3 2,400 3450 550 1.05 11 38 33.81 2873 20 22 8 51 160 154.73 149,65 110 40 95
12 41 36.80 31.72 27 2 8 52 163 157.75 152.67 110 40 95
13 4 39.80 34.72 27 2 95 53 166 160.78 155.70 110 40 95
14 47 4281 37.73 32 2 95 54 169 163.81 158.73 110 40 95
Eaxct =2 1T . 15 51 45.81 40.73 34 2 95 55 172 166.85 161.77 110 40 95
‘ SS1lE S5 (Kilowatt rating tables) 16 54 48.82 4374 37 2 95 56 175 169.88 164.80 110 40 95
17 57 51.84 46.76 40 25 95 57 178 17291 167.83 110 40 95
P = 9.525mm@/8" ) (12w 18 60 54.85 49.77 43 25 95 58 181 175.94 170.86 110 40 95
19 63 57.87 52.79 4 25 95 59 184 178.97 173.89 110 40 95
zte Amapll 314 (rp.m) 20 66 60.89 55.81 49 25 95 60 187 182.00 176.92 110 40 95
100 500 | 900 1200 1800 2500 3000 3500 4000| 4500 5000 5500 6000 6500 7000 | 7500 8000 8500 9000 10000 ;; gg gzg; Z?'gg ;‘6’ ;: g'g g; :gg }:g'gz :;g'gz Hg jg g'g
SEA A B C D 23 75 69.95 64.87 60 25 95 63 197 191.09 186.01 110 40 95
11| 013 058 | 098 128 184 248 219 173 142] 119 101 088 078 069 061] 055 050 046 042 036 24 78 7297 67.89 60 5 9.5 64 200 194.12 189.04 110 40 9.5
12| 015 064 | 1.08 141 203 272 250 198|162 136 116 101 088 078 063 057 052 048 041 22 £l 6100 02 G0 Bl £ G5 208 19715 12220/ 0 a £
13| 016 069 119 153 221 297 280 223 183 153 131 1.13 099] 088 079 071 064 059 054 046 26 84 79.02 73.94 60 30 9.5 66 206 200.18 19510 110 40 9.5
14| 018 [ 075 128 166 239 322 314 249 204 171 146 127 111 098 08 079 072 066 060 051 2z £ B205 Lo G0 Bl £ Gl 205 2UE 5 0 a 2
15| 019 | 081 138 179 257 346 348 | 276 226 189 162 | 140 123 109 098 088 080 073 067 057 28 90 85.07 79.99 60 30 9.5 68 212 206.24 201.16 110 40 9.5
29 93 88.10 83.02 60 30 95 69 215 209.27 20419 110 40 95
16 | 020| 087 148 192 276 372 | 383 304 249 209 | 178 154 136 120 107 097 08 081 074 063 30 9% 91.12 86.04 60 30 95 70 218 212.30 207.22 10 40 95
L | 17022 093 158 205 295[39 420 333 273 228|195 169 148 132 118 106 09 088 081 069 31 99 94.15 89,07 80 30 05 7 7 21534 21026 10 40 95
M 118 | 023 | 099 168 218 313 | 421 457 363 297[ 249 213 184 162 143 128 116 105 096 088 075 3 102 97.18 92.10 80 30 95 7 224 218.37 213.29 10 40 95
2 19| 025 105 178 231 333 | 447 49 394 322|270 231 200 175 156 140 125 114 104 095 081 3 105 100.20 95.12 80 30 05 73 27 221.40 2163 10 0 95
20 | 026 111 189 244 351 | 472 536 425( 348 292 249 216 189 168 151 136 123 113 1.03 088 34 109 103.23 98.15 80 30 95 74 230 22443 21935 10 40 95
A | 21| 028 147 198 257 371 | 498 577 457| 374 314 268 232 204 181 162 146 132 121 111 095 35 112 106.26 101.18 80 30 95 75 233 227.46 22238 110 40 95
o | 22]020] 123 209 271389 524 617[ 491 401 336 287 249 219 194 174 157 142 130 119 101 36 115 109.29 104.21 80 35 95 76 236 23049 22541 110 40 95
= 23031 129 219 284| 409 550 648 | 524 429 360 307 266 233 207 18 167 151 139 128 1.09 37 18 11231 107.23 80 35 95 7 239 233.52 228.44 110 40 95
2 124|032 135 230 297 428 575 678 | 559 457 383 327 283 249 221 198 178 162 148 136 1.16 38 121 115.34 110.26 80 35 95 78 242 23655 23147 110 40 95
20| 25| 033 141 239 310 448 601 709 | 595 48 408 348 302 265 235 210 189 172 157 144 123 39 124 11837 113.29 80 35 95 79 245 23958 23450 110 40 95
28| 037 160 271 351 | 506 680 | 7.98 704 577 483 413 358 314 278 249 225 204 187 171 146 2(1) gz) 321'2(3) Hg;é gg gg g'g g? ;‘51? ;gg; ;ig?; Eg jg Z'g
o | 30| 040 172 292378 545[ 732 865 7.83 639 536 458 397 348 309 276 249 226 207 189 162 : : ' : : '
U 42 133 127.46 122.38 90 35 95 82 254 248.68 243.60 110 40 95
32| 043 184 3.3 | 406 584 | 7.83 925 858 704 590 504 437 38 340 304 275 249 228 209 178
2 43 136 130.49 125.41 90 35 95 83 257 251.71 246.63 110 40 95
35 | 048 203 345 447 644 865 102 985 806 676 577 500 439 389 348 314 285 260 239 0
40 | 055 235398 516743 100 120 120 985 828 705 611 536 475 425 38 348 0 0 a 139 13352 12844 % ® 23 8 260 2474 219.66 1o 40 23
' ' ' : : ' ' T ' : : ' ' ' : : 45 142 136.55 131.47 90 35 95 85 263 257.77 252.69 110 40 95
45 | 063 266 | 452 586 | 843 113 134 143 120 985 843 729 639 567 507 458 0 46 145 13958 13450 100 35 95 86 266 260.80 255.72 110 40 95
50 | 070 298 | 506 [ 656 947 130 150 170 138 120 985 850 746 665 0 0 47 148 142.61 137.53 100 35 95 87 269 263.83 258.75 110 40 95
55 | 078 331 | 562 | 728 105 141 166 191 160 133 113 985 865 48 151 145.64 140.56 100 35 95 88 272 266.86 261.78 110 40 95
60 | 086|364 617 | 798 120 154 182 210 181 151 130 0 49 154 148.67 143,59 100 35 95 90 278 272.93 267.85 110 40 95
HaPAL 22 HFAEA L FHEE FRA L. 7)1 AT F4L dubA Q] Be-E el i e ER AR Aofl= A7 AEA 71Ee R AR FAA L. o, 719 Hite] w22 A or A HiEyrh




+ QI & A=}zl Chain & Sprocket

10

MS 40 =<1 222 |9l (standard roller chain)

res1s

18.0

¢3.s?6 | 77| ++| ’4

19.95 8.25

$7.95

A
N
T
S

12.70 | 12.70

K.S mthsts
K.S Minimum
Ultimate Strength
(Kgf)

_ o A
HeIHS =T

- Number of
Chain No.
Strands

MS 40-1 1 1,420
MS 40-2 2 2,840
MS 40-3 3 4,260
MS 40-4 4 5,680

MS

Ultimate Strength

B LIS

Z|ti S1&8sts
VB A Max. Allowable Load

(Kgf) (kgf) (kg/m)

3,900 1.27
5,850 1.90
7,800 1,220 2.53

Hesy
Approx. Weight

240

L —
STHME S3HE

(Kilowatt rating tables)

P=12.7mm(1/12" )

A2 ADgpl 3|8 (r.p.m)

50 200 400 | 600 900 1200 1800| 2400 3000 3500 4000 4500| 5000 5500 6000 6500 7000 7500 8000 9000

e A B c D
1 017 060 112 | 116 232 3.01 348 226 162 128 105 0.88| 075 0.65 057 051 0.46
12 019 066 | 133 177 255 330 39, 251 184 146 119 | 100 08 075 065 057 051
13 021 072 | 134 193 278 360 | 447 290 208 165 135 113 09 0.84 073 0.65 058
14 022 078 | 145 209 301 390 | 500 325 232| 18 151 126 108 093 08 0.73 065
15 024 084 | 157 225 325 421|554 360 257 | 204 167 140 119 1.04 091 0.81 072
16 026 090 | 168 242 348 451 | 610 396 | 283 225 184 154 132 114 100 0.89 0.80
. 17 028 09 | 1.79 257 372 | 481 668 434 | 311 247 202 169 145 125 110 0.98 0.87
- 18 029 | 1.02 190 275 395|512 728 473 ] 339 269 220 1.8 157 137 119 1.06 095
2 19 0.31 1.08 202 291 419 | 542 783 | 513 367 292 239 200 171 148 130 1.15 1.03
20 033 | 114 213 3.07 443 | 574 828 | 554 39 315 257 216 184 160 140 125 1.1
A 21 034 | 1.21 225 324 467 | 605 873 | 59 427 339 277 232 198 172 151 134 1.19
o 22 037 | 1.27 236 341 491 | 636 9.17 | 639 457 363 297 249 213 184 162 143 128
- 23 038 | 133 248 357 515 | 667 962 | 683 489 388 318 266 223 197 173 154 137
2t | 24 040 | 140 260 374 539 | 698 | 101 728 521 413 339 283 242 210 184 163 1.46
2 25 042 | 145 272 391 | 563 730 | 105 776 554 439 360 3.01 257 223 19% 174 0
28 047 | 164 307 442 | 637 828 | 119 918 656 521 427 357 305 265 232 206 O
ol 30 0.51 178 330 476 | 686 | 888 128 101 728 578 473 39 339 293 257 0
: 32 054 | 190 354 [ 511 736 | 955 137 112 806 637 521 437 373 323 283 0
s 35 060 210 391 | 562 813 | 105 151 128 918 728 59 5.00 427 369 0
40 069 242 451 | 650 933 | 122 175 157 112 888 728 610 521 O
45 079 275 513 | 738 | 106 138 198 187 134 106 873 728 0
50 088 3.07 | 574 828 | 119 154 222 219 157 125 146 O
55 098 341 | 636 9.18 | 13.2 171 246 253 181 143 0
60 1.07 374 | 699 101 | 145 188 271 288 206 O

0.41
0.46
0.52
0.59
0.65

0.72
0.78
0.86
0.93
1.00

1.08
0
0

0.37
0.43
0.48
0.53
0

o O o ooo

o O O o

LY

A2 22eAIY HEAEA Y SRS dxshAl L,

MUSSO POWER SYSTEM

MS 40 2221

X[l A2} (Roller chain sprocket)

=]
.D
. 33.16 8 . . .
1 51 45.08 37.14 30 25 9.5 51 214 206.30 198.36 108 45 12.5
12 55 49.07 41.13 34 25 9.5 52 218 210.34 202.40 108 45 12.5
13 59 53.07 45.13 38 25 9.5 53 222 214.38 206.44 108 45 12.5
14 63 57.07 49.13 43 30 9.5 54 226 218.42 210.48 108 45 12.5
15 67 61.08 53.14 46 30 9.5 55 230 222.46 214.52 108 45 12.5
16 7 65.10 57.16 51 30 9.5 56 234 226.50 218.56 108 45 12.5
17 76 69.12 61.18 54 30 9.5 57 238 230.54 222.60 108 45 12.5
18 80 73.14 65.20 57 30 9.5 58 242 234.58 226.64 108 45 12.5
19 84 71.16 69.22 60 30 9.5 59 246 238.62 230.68 108 45 12.5
20 88 81.18 73.24 60 30 9.5 60 250 242.66 234.72 108 45 12.5
21 92 85.21 71.27 60 32 12.5 61 254 246.70 238.76 108 45 12.5
22 96 89.24 81.30 70 32 12.5 62 258 250.74 242.80 108 45 12.5
23 100 93.27 85.33 70 32 12.5 63 262 254.78 246.84 108 45 12.5
24 104 97.30 89.36 70 32 12.5 64 266 258.83 250.89 108 45 12.5
25 108 101.33 93.39 70 32 12.5 65 270 262.87 254.93 108 45 12.5
26 112 105.36 97.42 70 35 12.5 66 274 266.91 258.97 108 45 12.5
27 116 109.40 101.46 70 35 12.5 67 278 270.95 263.01 108 45 12.5
28 120 113.43 105.49 85 35 12.5 68 282 274.99 267.05 108 45 12.5
29 124 117.46 109.52 85 35 12.5 69 286 279.03 271.09 108 45 12.5
30 128 121.50 113.56 85 35 12.5 70 290 283.07 27513 108 45 12.5
31 133 125.53 117.59 88 40 12.5 n 294 287.11 279.17 108 45 12.5
32 137 129.57 121.63 88 40 12.5 72 299 291.16 283.22 108 45 12.5
33 141 133.61 125.67 88 40 12.5 73 303 295.20 287.26 108 45 12.5
34 145 137.64 129.70 88 40 12.5 74 307 299.24 291.30 108 45 12.5
35 149 141.68 133.74 88 40 12.5 75 311 303.28 295.34 108 45 12.5
36 153 145.72 137.78 88 40 12.5 76 315 307.32 299.38 108 45 12.5
37 157 149.75 141.81 88 40 12.5 77 319 311.36 303.42 108 45 12.5
38 161 153.79 145.85 88 40 12.5 78 323 315.40 307.46 108 45 12.5
39 165 157.83 149.89 88 40 12.5 79 327 319.44 311.50 108 45 12.5
40 169 161.87 153.93 88 40 12.5 80 331 323.49 313.55 108 45 12.5
4 173 165.91 157.97 98 40 12.5 81 335 327.53 319.59 108 45 12.5
42 177 169.95 162.01 98 40 12.5 82 339 331.57 323.63 108 45 12.5
43 181 173.98 166.04 98 40 12.5 83 343 335.61 327.67 108 45 12.5
44 185 178.02 170.08 98 40 12.5 84 347 339.65 331.71 108 45 12.5
45 189 182.06 174.12 98 40 12.5 85 351 343.69 335.75 108 45 12.5
46 193 186.10 178.16 98 40 12.5 86 355 347.73 339.79 108 45 12.5
47 197 190.14 182.20 98 40 12.5 87 359 351.78 343.84 108 45 12.5
48 201 194.18 186.24 98 40 12.5 88 363 355.82 347.88 108 45 12.5
49 205 198.22 190.28 98 40 12.5 90 371 363.90 355.96 108 45 12.5
) 1A S48 dura Q] Ze-E el i Qe B R AR Aols 7IALA 71Ee R AAs AL ©, 719 wee] WA 22 Ao A dhEyr




+ ®|2l & AmE}3ll Chain & Sprocket 12 MUSSO POWER SYSTEM 13

MS 50 =<1 222 |9l (standard roller chain) MS 50 2=2{ |2l A2} (Roller chain sprocket)

vad20

22.5

#5.08 .|77| ++| ’4 ot & {_IL

12,0 10.3

7
IS
T
S

15.87515.875

8.7
n
I
M
fa
H— o|g 52
S== 105
o Of 3+ O
B.L

o II:_I‘= = .\_1-1-51- I II:_I‘; = = Q== =
—— o+ B e NS R i 30} B85 Nz

K.S Minimum MS Average i
Chain No. hitsmiberiof Ultimate Strength Ultimate Strength Max. Allowable Load Approx. Weight
NicS (Kgf) (Kg/m)

(Kgf) (Kgf)

MS 50-1 1 2,210 3,200

MS 50-2 2 4420 6,400 1,100 207 192 10 58 51.38 49122 35 30 95 50 262 252.83 242.67 118 45 18
MS 50-3 3 6,630 9,600 1,630 3.09 11 64 5635 46.19 37 30 125 51 267 257.88 247.72 100 40 18
MS 50-4 4 8,840 12,800 2,150 411 12 69 61.34 51.18 a3 30 125 52 272 262.92 252.76 100 40 18
13 74 66.34 56.18 48 35 125 53 277 267.97 257.81 100 40 18
14 79 71.34 61.18 53 35 125 54 282 273.02 262.86 100 40 18
CF 3317 .. . 15 84 7635 66.19 58 35 125 55 287 278.08 267.92 100 40 18
%E!XLE!- 3—11&- (Kilowatt rating tables) 16 89 8137 7121 63 40 125 56 292 283.13 27297 100 40 18
17 9% 86.39 7623 65 40 125 57 297 288.18 278.02 100 40 18
P = 15.875mm(5/8" ) (Ere k) 18 100 91.42 81.26 70 40 125 58 302 293.23 283.07 100 40 18
19 105 96.45 86.29 70 40 16 59 307 298.28 288.12 100 40 18
A2 AZapsl 3|3 (rp.m) 20 110 101.48 91.32 70 40 16 60 312 30333 293.17 100 40 18
50100 3050900120 2 o | s | s s | w16 @ | @ | sms | s | w0 | o s
REFN A B C D 23 125 116.58 106.42 75 40 16 63 328 318.48 308.32 100 40 18
1| 034 063| 168 265 453 58 | 555 416 330 270 227 193 167 154 125 105 090 080 072 0 24 130 121,62 11146 75 40 16 64 333 323.53 313.37 100 40 18
12| 037 069 1.84 292 497 645| 634 476 376 308 259 221 192 175 143 120 103 091 08 0 25 B5 126166 1650 20 av e 55 888 B2658 BLE<17 100 a 15
13 040 075| 201 318 542 703 7.3 535 423 347 291 248 216 198 161 135 116 1.02 093 0 26 140 131.70 121.54 90 40 18 66 343 333.64 32348 100 40 18
14| 043 081| 218 343 587| 761 798 598 473 383 325 278 241 221 18 151 129 114 0 2 L5 26 12656 20 av i & 218 E3E169 B2858 100 a 15
15 | 047 087| 235 371 633 821 88 663 524 430 360 3.08 267 245 200 167 143 127 0 28 150 141.79 13163 100 40 18 68 353 343.74 333.58 100 40 18
29 155 146.83 136.67 100 40 18 69 358 348.79 338.63 100 40 18
16 | 050 094| 251 398 678| 880 977 730 577 474 397 339 294 270 220 184 157 140 0 30 161 151.87 1171 100 P 18 70 363 35384 343,68 100 0 18
| 17| 054100 269 424[729 940 107 798[ 633 518 435 372 322 295 241 202 173 153 0 = T6e TI7) VT 00 ) s = 368 35689 31873 100 ) 7
S 118 | 057|107 28 451|768 100 116 873 | 689 565 474 404 351 322 263 220 189 0 3 17 161.96 151.80 100 0 18 7 373 363.94 35378 100 0 18
2 19| 060| 113 303 479 | 813 106 126] 947 746 613 514 439 380 349 285 239 204 0 33 7 700 T 00 ) s =3 378 38500 Seaal 100 ) 7
20 [ 064 119 321 506 | 865 112 136| 102 806 662 555 474 411 377 307 257 221 0 34 181 172.05 161.89 100 0 18 74 383 37405 363.89 100 P 18
A | 21| 067|126 338 533|891 118 144 110 865 712 598 510 442 406 331 277 238 35 186 177.10 166.94 100 40 18 75 388 379.10 368.94 100 40 18
o | 2| 071|132 355] 561 955 124 151 118 933 761 641 547 474 435 355 297 255 g 36 191 182.14 171.98 100 40 18 76 393 384.15 373.99 100 40 18
23| 075|139 373| 58 100 130 | 159 126 992 813 685 58 507 465 379 318 0 37 196 187.19 177.03 100 40 18 77 398 389.20 379.04 100 40 18
2 24| 078 | 145 390 | 616 105 137 | 166 134 106 873 730 622 540 495 404 338 0 38 201 19224 182.08 100 40 18 78 403 394.25 384.09 100 40 18
2| 25| 081 152 408 644 110 142 | 174 142 113 925 776 662 574 527 430 360 0 39 206 197.29 187.13 100 40 18 79 409 399.31 389.15 100 40 18
28 [ 090 172 461 728 124 | 161 196 169 134 110 918 783 681 624 510 0 40 2N 202.33 192.17 100 40 18 80 a4 404.36 394.20 100 40 18
] 216 207.38 197.22 118 45 18 81 419 409.41 399.25 100 40 18

o | 30| 099 | 181 497 | 783 134 | 173 212 187 148 122 102 873 753 692 565 0
“ 132|106 198 533 843 143|186 227 207 163 134 112 962 828 761 622 0 42 21 21243 202.27 18 pe 18 82 42 414,46 404.30 100 40 18
035 | 171 | 219 58  925[ 158 204 250 236 187 153 128 110 955 873 712 0 43 226 217.48 207.32 8 - 18 & 429 419,51 409.35 100 40 18
40 | 135|252 [ 679 107 | 182 232 289 289 228 187 157 134 116 107 0 a 21 22253 21231 18 pe 18 s 434 424,57 M1 100 40 18
45 237 227.58 217.42 118 45 18 85 439 429.62 419.46 100 40 18
45 | 154 | 286 | 7.68 | 122 207 269 327 345 272 223 187 160 139 O 46 242 232.63 222.47 118 45 18 86 444 434.67 424.51 100 40 18
50 | 172 321 | 865 | 136 232 301 367 404 319 262 219 187 0 47 247 237.68 227.52 118 45 18 87 449 439.72 429.56 100 40 18
55 | 191 356 | 965 | 151 257 333 407 466 368 302 253 0 48 252 242.73 232.57 118 45 18 88 454 444.77 434.61 100 40 18
60 | 210 392 | 105 | 166 283 366 447 530 419 344 0 49 257 247.78 237.62 118 45 18 90 464 454.88 444.72 100 40 18

HaPAL 22 HFAEA L FHEE FRA L. F) L EY F42 QA B9-5 el slenz AR Ao dW7|AEA Vel ® A4 FAAL. T, 719 kel ellA e 2 Aoz A uigyh

B




+ QI & A=}zl Chain & Sprocket

14

MS 60 =<1 222 |9l (standard roller chain)

el 1]

14.75 12.85

28.2

_ o A
HeIHS =T

- Number of
Chain No.
Strands

K.S mthsts
K.S Minimum
Ultimate Strength
(Kgf)

MS "# miEtsts

MS Average
Ultimate Strength

(Kgf)

Z|tf 518sts

Max. Allowable Load

(Kgf)

EE

Approx. Weight

(Kg/m)

MS 60-1 1 3,200 4,500

MS 60-2 2 6,400 9,000 1,530 3.04

MS 60-3 3 9,600 13,500 2,250 454 160

MS 60-4 4 12,800 18,000 2,970 6.04

L— 7 . .
SHME ST (Kilowatt rating tables)
P = 19.05mm(3/4” ) (E491:Kkw)
A2 ADgpl 3|8 (r.p.m)

50 100 | 200 500 700 900 | 1200 1400 1600 1800 2000 2200 2400, 2600 2800 3000 3500 3800 4000 4600

283 A B C D
1 058 1.07 | 201 458 621 783 | 888 705 574 484 411 357 313| 278 248 224 178 157 145 0
12 063 1.18 | 221 502 6.82 | 858 10.1 806 656 554 469 4.07 317 283 255 203 179 166 O
13 069 128 | 240 548 743 | 933 114 903 738 622 528 | 458 4.02 357 319 287 228 201 187 0
14 | 075 140 | 260 593 806 | 101 128 101 828 695| 590 512 449 398 357 321 255 225 209 O
15 081 150 | 280 639 | 865 109 141 112 918 | 768 654 568 498 442 395 356 283 249 231 0
16 | 087 161 | 301 686 | 933 117 151 124 101 | 850 721 624 549 487 436 392 311 275 255 0
. 17 093 171 | 322 732|992 125 162 136 | 110 933 791 685 6.01 533 477 429 341 301 279 0
- 18 | 098 | 183 342 776 | 105 133 172 148 | 120 101 858 746 655 581 520 468 372 327 304 0
2 19 1.04 | 194 363 828 | 112 140 182 160 131 110 933 813 710 630 564 507 403 355 330 0
20 110 { 205 383 | 873 119 148 192 173 141 119 101 873 768 680 609 548 435 383
A 21 116 | 216 4.04 | 918 125 157 | 203 186 151 128 108 940 828 733 656 589 468 4.13
o 22 122 | 227 424 | 970 131 165 | 213 199 163 137 116 101 888 7.83 703 632 502 442
- 23 128 | 238 445 | 101 137 173 | 224 213 174 146 125 107 947 843 753 676 536 0
2t | 24 134 | 249 468 | 106 144 181 | 234 227 185 156 132 115 100 895 798 720 571 0
2 25 140 | 260 487 | 111 151 | 189 245 242 197 166 141 122 107 955 850 7.68 6.08 0
28 158 | 295 | 551 125 17.0 | 214 277 286 233 197 167 145 127 113 101 910 721 0
ol 30 171 | 317 | 593 135 184 | 231 298 318 259 218 185 160 141 125 112 101 O
: 32 183 | 340 | 636 145 196 | 247 320 350 285 240 204 17.7 155 138 123 111 O
a 35 201 374| 701 160 | 216 272 353 400 326 275 233 202 178 157 141 127 O
40 | 233 433 | 813 184 | 250 314 407 468 398 336 285 247 217 192 172 O
45 265 515| 918 | 21.0 284 357 463 531 475 401 340 295 259 230 O
50 | 296 551 | 103 | 235 319 386 51.8 597 557 469 398 345 304 0
55 328 6.10 | 114 | 260 353 403 574 659 642 542 460 398 0
60 361 6.70 | 125 | 288 387 487 631 725 732 61.7 524 0

* UYL 2ol HFUYA ] FHAS BRI 0,

MUSSO POWER SYSTEM

MS 60 E=24

X[l A2} (Roller chain sprocket)

B

49.74

11 76 67.62 55.71 4 40 12.5

12 83 73.60 61.69 51 40 12.5

13 89 79.60 67.69 57 40 16 . .

14 95 85.61 73.70 62 40 16 54 338 327.63 315.72 137 55 18
15 101 91.62 79.71 68 40 16 55 345 333.69 321.78 137 55 18
16 107 97.65 85.74 76 42 16 56 351 339.75 327.84 137 55 18
17 113 103.67 91.76 80 42 16 57 357 345.81 333.90 137 55 18
18 119 109.71 97.80 80 42 16 58 363 351.87 339.96 137 55 18
19 126 115.74 103.83 80 42 16 59 369 357.93 346.02 137 55 18
20 132 121.78 109.87 85 42 16 60 375 363.99 352.08 137 55 18
21 138 127.82 115.91 85 45 16 61 381 370.06 358.15 137 55 18
22 144 133.86 121.95 90 45 16 62 387 376.12 364.21 137 55 18
23 150 139.90 127.99 90 45 18 63 393 382.18 370.27 137 55 18
24 156 145.95 134.04 90 45 18 64 399 388.24 376.33 137 55 18
25 162 151.99 140.08 100 45 18 65 405 394.30 38239 137 55 18
26 168 158.04 146.13 100 50 18 66 411 400.36 388.45 137 55 18
27 174 164.09 152.18 100 50 18 67 417 406.42 394.51 137 55 18
28 180 170.14 158.23 120 50 18 68 423 412.49 400.58 137 55 18
29 187 176.20 164.29 120 50 18 69 430 418.55 406.64 137 55 18
30 193 182.25 170.34 120 50 18 70 436 424,61 412.70 137 55 18
31 199 188.30 176.39 127 50 18 Al 442 430.67 418.76 137 55 18
32 205 194.35 182.44 127 50 18 72 448 436.73 424.82 137 55 18
33 211 200.41 188.50 127 50 18 73 454 442.79 430.88 137 55 18
34 217 206.46 194.55 127 50 18 74 460 4438.86 436.95 137 55 18
35 223 212.52 200.61 127 50 18 75 466 454.92 443.01 137 55 18
36 229 218.57 206.66 127 50 18 76 472 460.98 449.07 137 55 18
37 235 224.63 212.72 127 50 18 77 478 467.04 455.13 137 55 18
38 241 230.69 218.78 127 50 18 78 484 473.10 461.19 137 55 18
39 247 236.74 224.83 127 50 18 79 490 479.17 467.26 137 55 18
40 253 242.80 230.89 127 50 18 80 496 485.23 473.32 137 55 18
41 260 248.86 236.95 127 50 18 81 502 491.29 47938 137 55 18
42 266 254.92 243.01 127 50 18 82 508 497.35 485.44 137 55 18
43 272 260.98 249.07 127 50 18 83 514 503.42 491.51 137 55 18
44 278 267.03 255.12 127 50 18 84 521 509.48 497.57 137 55 18
45 284 273.09 261.18 127 50 18 85 527 515.54 503.63 137 55 18
46 290 279.15 267.24 137 50 18 86 533 521.60 509.69 137 55 18
47 296 285.21 273.30 137 50 18 87 539 527.67 515.76 137 55 18
48 302 291.27 279.36 137 50 18 88 545 533.73 521.82 137 55 18
49 308 297.33 285.42 137 50 18 90 557 545.85 533.94 137 55 18

21 A 374 QWA A9E Uehfn gonz 2% Aok AiIANA 1Z0E AHs AN, B, 719 gl BshE 2 Aoz A% ughir,




+ #|ol & AZE}3 Chain & Sprocket 16 MUSSO POWER SYSTEM 17

MS 80 =<1 222 |9l (standard roller chain) MS 80 2=2{ x|l A2}l (Roller chain sprocket)

#7.92

19.25 16.25
o
2
1
org
36.0

|
.
[

o II:_I‘= = .\_1-1-51- I II:_I‘; = = Q== =
—— o+ B e NS R i 30} B85 Nz

K.S Minimum MS Average i
Chain No. hitsmiberiof Ultimate Strength Ultimate Strength Max. Allowable Load Approx. Weight
NicS (Kgf) (Kg/m)

(Kgf) (Kgf)

5,650 8,000
11,300 16,000 2,550 5.27 120
16,950 24,000 3,750 7.89
22,600 32,000 4,950 10.50
(Kilowatt rating tables)
P=25.40mm(1” ) (EH91:kw)
A2 AZapsl 3|3 (rp.m) 20 176 162.37 146.49 110 50 23 60 500 48533 469.45 157 60 28
21 184 17042 154.54 110 50 23 61 508 493.41 47753 157 60 28
25 50 | 100 200 300 400 500 | 700 900 1000 1200 1400| 1600 1800 2000 2200 2400 2600 2800 3000
- 22 192 178.48 162.60 110 50 28 62 516 501.49 485,61 157 60 28
2N A B C D 23 200 186.54 170.66 110 50 28 63 524 509.57 493.69 157 60 28
1 [ 072 134|251 468 674 873 107 | 145 172 146 111 880| 723 605 518 448 393 349 312 0 24 208 194.60 178.72 110 50 28 64 532 517.65 501.77 157 60 28
12| 079 148|276 514 741 962 [ 117 159 195 167 127 | 101 820 692 591 512 449 398 357 0 25 2 20255 186%/8 lie 50 25 65 510 BZ0N/B B00:85 157 60 25
13| 087 161|301 560 806 104 | 128 173 217 188 [143 113 933 776 665 576 506 448 401 0 26 224 210.72 194.84 110 50 28 66 548 533.82 517.94 157 60 28
14| 093 175|325 607 873 113 | 139 187 235 210 160 127 104 873 743 644 565 501 448 0 2 255 2IEYS 20231 120 50 25 6] 857 L B2 157 60 25
15 [ 101 188|351 654 940 122 | 149 202 254 233 | 178 141 115 962 821 704 627 556 031 0 28 241 226.86 210.98 120 50 28 68 565 349.98 334.10 157 60 28
29 249 234.93 219.05 120 50 28 69 573 558.06 542.18 157 60 28
16| 108 201|376 701 101|131 160 216 27.2| 257 195 155 127 106 9.0 783 690 612 0 30 257 243.00 227.12 120 50 28 70 581 566.15 550.27 157 €0 28
L 17116 215|401 746 108 | 140 171 231 290| 280 213 169 139 116 992 858 753 669 0 3 265 551,07 3519 147 €0 28 1 £39 £7493 £E535 157 €0 28
18| 122 229|427 798 115|148 182 246 308| 306 233 185 151 127 108 940 821 730 0 1 7 250,14 243.26 147 60 28 2 597 582.31 566.43 157 €0 28
2| 19| 130 242|453 843 122|157 192 261 [ 327 332 253 201 164 137 117 100 895 791 0 33 281 26791 5133 147 €0 28 - 605 29039 £74.51 157 €0 28
20 | 137 257 | 479 895 | 128 166 204 276 | 346 359 273 216 178 148 127 110 962 7.09 0 3 289 275.20 250.41 147 60 28 7 613 503,47 582.50 157 €0 28
A | 21| 145 270 504 940 | 136 176 21.5| 291 365 386 294 233 191 160 137 119 104 0 35 297 28336 267.48 147 60 28 75 621 606.56 590.68 157 60 28
o | 22| 152 284 530 992 | 142 185 226 306 383 414 315 250 204 172 146 127 111 0 36 306 291.43 27555 147 60 28 76 629 614.64 598.76 157 60 28
=1 23| 160 298 557 104 | 149 194 236| 321 402 442 336 267 219 184 157 136 119 0 37 314 299.51 28363 147 60 28 77 637 622.72 606.84 157 60 28
3 | 24 | 167|313 58 109 | 157 203 248 | 336 421 463 359 284 233 195 166 145 127 0 38 322 307.58 291.70 147 60 28 78 646 630.81 614.93 157 60 28
A 25| 175|327 609 113 163 212 260 351 440 484 381 303 248 207 178 154 136 0 39 330 315.66 299.78 147 60 28 79 654 638.89 623.01 157 60 28
28 | 198 | 369 689 | 128 185 239 | 293 397 497 547 452 359 294 246 210 182 0 40 338 323.74 307.86 17 60 28 80 662 646.97 63109 157 60 28
] 346 331.81 315.93 147 60 28 81 670 655.06 639.18 157 60 28
o | 30 | 213| 398 742 138 199 258 316 427 536 589 501 398 325 273 233 203 0O
£ b7 354 339.89 324.01 147 60 28 82 678 663.14 647.26 157 60 28
32 | 228 | 426 798| 148 213 277 | 338 458 574 632 552 438 359 301 257 0
2 43 362 347.97 332.09 147 60 28 83 686 671.22 655.34 157 60 28
35 | 251 | 469 873 | 163 236 305 | 373 505 633 696 632 501 41.0 344 294 0
2 | 29| 540 Mo 189 130 w83 731 806 768 612 501 420 0 44 370 356.04 340.16 147 60 28 84 694 67931 663.43 157 60 28
' : : : : ' : ' ' : ' : 45 378 364.12 348.24 147 60 28 85 702 68739 67151 157 60 28
45 | 330 615 115 214 489 662 88 910 918 731 598 305 0 4% 387 37220 35632 157 60 28 86 710 695.47 679.59 157 60 28
50 | 370 690 | 129 240 548 742 933 1020 1080 858 482 0 47 395 38028 364.40 157 60 28 87 718 703.55 687.67 157 60 28
55 | 410 761 | 142 266 60.7 8.1 1030 1130 150 985 O 48 403 388.36 372.48 157 60 28 88 726 711.64 695.76 157 60 28
60 | 450 843 | 157 292 667 903 1130 1250 1420 364 0 49 411 396.44 380.56 157 60 28 90 743 727.80 711.92 157 60 28
HaPAL 22 HFAEA L FHEE FRA L. F) L EY F42 QA B9-5 el slenz AR Ao dW7|AEA Vel ® A4 FAAL. T, 719 kel ellA e 2 Aoz A uigyh

B




+ #el & AZEp3 Chain & Sprocket 18 MUSSO POWER SYSTEM 19

MS 100 E=3 23221 A|€! (standard roller chain) MS 100 222 H|@] A2} (Roller chain sprocket)

— y S

Sms IS 3 1T

ST #19.05
STEDO] ¢
31.75 | 31.75

. _ o A K.S mthets MS "# miEtsts 3 sesE pIEI =T
HQIHS N =T K.S Minimum MS Average = el
- umber of : : Max. Allowable Load | Approx. Weight
Chain No. Strands Ultimate Strength Ultimate Strength (Kah (Kg/m)
(Kgh (kg J s
MS 100-1 1 8,850 12,000 2,300 3.99
MS 100-2 2 17,700 24,000 3,910 7.85 o
MS 100-3 3 26,550 36,000 5,750 11.77
MS 100-4 4 35,400 48,000 7,590 15.70
14 158 142.68 123.63 100 70 25
Eadxct =245 o . 15 168 152.71 133.66 100 70 25 55 574 556.15 537.10 150 90 25
SS1lE S5 (Kilowatt rating tables) 16 179 162.74 143.69 110 75 25 56 584 566.25 547.20 150 90 25
17 189 172.79 153.74 110 75 25 57 595 57635 557.30 150 90 25
P = 31.75mm(1 14" ) (£ Kw) 18 199 182.84 163.79 110 75 25 58 605 586.45 567.40 150 90 25
19 209 192.90 173.85 110 75 25 59 615 596.56 57751 150 90 25
A2 AZapsl 3|3 (rp.m) 20 220 202.96 183.91 110 75 25 60 625 606.66 587.61 150 90 25
21 230 213.03 193.98 110 75 25 61 635 616.76 597.71 150 90 25
10 25 50 | 100 200 300 | 400 500 600 700 800 900 1000| 1100 1200 1400 1600 1800 2000 2200
__ 22 240 223.10 204.05 120 75 25 62 645 626.86 607.81 150 90 25
REFN A B C D 23 250 233.17 214.12 120 75 25 63 655 636.96 617.91 150 90 25
1 [ 006 138 257 | 480 895 129 | 167 204 241 27.7 245 205 175] 151 133 106 865 724 518 0 24 260 243.25 224.20 120 5 25 64 665 647.06 628.01 150 90 25
12| 066 151 283|527 985 142 | 184 225 265 304 279 234 200 173 152 121 985 828 0 25 20 25032 el 120 7z 25 65 B/ 65731 G842 150 20 25
13072 166 308|576 107 [154 201 245 289 332 314 | 263 225 195 171 136 111 933 0 26 281 263.40 244.35 120 5 25 66 686 667.27 648.22 150 90 25
14| 078 179 334|623 116 | 168 217 266 313 359 [ 351 294 251 218 191 151 124 104 0 2 21 B3 2 120 7z 25 6] 596 5] 658337 150 20 25
15| 084 193|360 671 125|181 234 286 337 387 389 326 278 242 212 168 138 116 0 28 301 283.57 264.52 120 5 25 68 706 687.48 668.43 150 90 25
29 311 293.66 274.61 120 75 25 69 716 697.58 678,53 150 90 25
16 | 091 207 | 38 720 134|193 251 307 361 | 41.5 429 359 307 266 233 185 151 127 0 30 o 303.75 284.70 120 75 %5 70 76 207.68 688,63 150 9% 2%
| 17| 097 221|412 768[ 143 207 268 327 386 | 443 469 393 336 201 255 203 166 140 0 = 337 358 50478 ) 75 5e = T3¢ e £5873 75 ) o
18| 1.03 235 | 438 821 | 152 220 285 348 41.0 471 512 429 366 317 278 221 181 151 0 3 31 12392 30487 160 75 %5 7 746 727.89 208.8 150 90 25
2 |19 | 109 249 | 465 865| 162 233 302 369| 435 500 555 465 397 344 302 239 196 164 0 33 359 330.01 314.96 160 75 55 - =56 =37.99 18.94 150 % 55
20 [ 116 263 | 491 918 | 171 246 319 390 | 460 528 595 502 429 372 326 259 212 0 34 362 34411 325,06 160 75 2% 74 766 748.00 229,04 150 9% 2%
A | 21| 122 278|518 962 | 181 260 336 | 41.1 484 557 627 540 461 400 351 278 228 O 35 372 354.20 335.15 160 75 25 75 777 75820 739.15 150 90 25
o | 22| 128 292|545 101|189 273 357 | 433 510 586 660 580 495 429 376 298 245 0 36 382 364.29 34524 170 80 25 76 787 768.30 749.25 150 90 25
“ | 23| 134 306|571 107|198 286 37.1 | 454 535 614 692 619 529 458 402 319 261 0 37 392 374.38 355.33 170 80 25 77 797 778.41 75936 150 90 25
2 | 24 | 140 321 | 598 112 208 300 389 475 560 643 725 659 563 489 428 340 278 0 38 402 384.48 365.43 170 80 25 78 807 78851 769.46 150 9 25
s | 25| 147 335|674 [ 116 218 313 [ 406 496 585 672 761 702 599 519 456 362 271 0 39 412 394.57 375.52 170 80 25 79 817 79861 779.56 150 90 25
28 | 166 378 | 7.06 | 132 246 354 | 459 561 661 761 858 828 710 615 540 429 383 0 40 422 404.67 38562 170 80 > 80 827 808.71 789.66 150 % 2
] 433 #14.77 395.72 150 90 25 81 837 818.82 799.77 150 90 25
o | 30 | 179 [408 761 | 142 265 382 | 495 604 712 81 925 925 791 683 599 475 0
£ ® 443 424.86 405.81 150 90 25 82 847 828.92 809.87 150 90 25
32 [ 192 | 437 813 | 152 284 409 530 648 761 880 992 101 865 753 660 524 0
o 43 453 434.96 415.91 150 90 25 83 857 839.03 819.98 150 90 25
T 35| 211 48 895|168 313|451 584 714 843 970 109 116 992 88 753 361 0
40 | 244 557 104 | 194 361 | 521 674 88 970 112 126 140 122 105 925 0 a 463 445,06 426.01 150 2 > s 868 819.13 83008 150 % 2
: ' ' ' : : : : ' : 45 473 455.16 436.11 150 90 25 85 878 859.23 840.18 150 90 25
45 277 | 632 118 | 220 | 410 592 768 940 110 127 143 159 145 124 570 0 46 483 465.25 446.20 150 90 25 86 888 869.34 850.29 150 90 25
50 | 310 | 7.08 | 132 246 460 662 858 105 124 142 160 178 156 730 O 47 493 47535 456.30 150 90 25 87 898 879.44 860.39 150 90 25
55 | 344 | 7.83 | 146 273 | 510 734 955 116 137 157 178 198 103 142 O 48 503 485.45 466.40 150 90 25 88 908 889.55 870.50 150 90 25
60 | 378 865 | 161 300 | 560 80.6 104 128 151 172 195 135 424 0 49 514 49555 476.50 150 90 25 90 928 909.75 890.70 150 90 25
HaPAL 22 HFAEA L FHEE FRA L. F) L EY F42 QA B9-5 el slenz AR Ao dW7|AEA Vel ® A4 FAAL. T, 719 kel ellA e 2 Aoz A uigyh




+ QI & A=}zl Chain & Sprocket

20

MS 120 E=3 2221 A|€l (standard roller chain)

4.8

po2d
55}.8
e

28.9 249

oS I ESE=SEES

CEDK

38.10 | 38.10

$22.23

=0

K.S mEss

MS "z mEsts

MUSSO POWER SYSTEM

21

MS 120 222 H|@] A2} (Roller chain sprocket)

ol= o 4 2ty 512515 Netma
o = T i Sl S S
HlH= Number of (%5 W iiuie VB A Max. Allowable Load | Approx. Weight
Chain No. Ultimate Strength Ultimate Strength (Kah (Kg/m)
(Kg) (Kgf) s 2
MS 120-1 1 12,800 17,000 3,100 5.93
MS 120-2 2 25,600 32,600 5,270 11.70 80
MS 120-3 3 38,400 48,900 7,750 17.53
MS 120-4 4 51,200 65,200 10,230 23.36
CF = 1L . .
SHME ST (Kilowatt rating tables)
P=381mm(112" ) (21 :Kw)
A2 ADgpl 3|8 (r.p.m)
10 25 50 100 150 200 300 400 500 600 700 {0[0] 900 1000 1100 1200 1300 1400 1500 1600
SZEFA A B C D
1 120 233 | 434 813 116 151 | 21.8 282 345 407 345 282 236 202 175 154 137 122 110 O
12 112 256 | 477 888 128 | 166 239 310 379 446 | 394 322 270 231 200 175 156 140 125 O
13 122 279 | 520 970 14.0 | 181 261 338 413 487 | 443 363 304 260 225 198 175 157 141 0
14 132 302 | 563 105 151 | 196 283 366 448 | 527 495 405 339 290 251 221 195 175 940 O
15 142 325 | 6.06 113 163 | 211 304 395 482 | 56.8 549 450 377 322 279 245 217 194 336 O
16 153 348 | 651 122 175 | 227 327 423 517 | 609 605 495 415 354 307 269 239 214 O
. 17 163 372 | 695 130 187 | 242 348 451 552 65.1 66.2 542 454 388 336 295 262 234 0
- 18 174 396 | 739 138 | 198 257 371 480 | 586 692 721 591 495 423 366 322 286 213 O
2 19 184 419 | 783 146 | 21.0 272 393 509 | 622 733 783 64.1 53.7 458 398 348 310 155 0
20 195 444 | 828 154 | 222 288 416 | 538 658 776 843 692 580 495 429 377 334 828 O
A 21 205 | 468 873 163 | 234 304 438 | 56.7 694 821 91.0 745 624 533 462 405 360 O
o 22 216 | 492 918 172 | 247 319 460 | 596 779 858 977 798 669 571 495 434 374 0
- 23 226 | 516 962 | 180 259 336 483 | 626 768 903 104 850 715 610 529 465 316 O
2t 24 237 | 541 101 | 188 272 351 506 | 656 798 947 108 91.0 761 651 563 495 243 0
2 25 248 | 556 105 | 197 283 367 | 529 685 836 985 113 97.0 813 692 600 526 0
28 280 | 638 119 | 222 320 415 | 598 776 947 111 128 115 %.2 821 711 0
ol 30 3.01 6.88 12.8 | 239 345 447 | 644 836 102 120 138 127 107 91.0 79.1 0
A 32 323 | 737 137 | 257 369 478 | 689 895 109 128 148 140 117 100 761 0
s 35 356 | 813 | 151 283 40.7 | 52.7 76.1 985 120 142 163 160 134 115 51.0 0
40 411 | 940 | 175 327 471 | 609 880 114 139 164 188 190 152 768 0
45 467 107 | 198 371 534 | 69.2 100 129 158 186 213 172 107 178 0
50 523 119 | 222 416 | 598 776 112 145 177 209 231 164 67.7 0
55 580 132 | 29.7 46.1 66.4 858 124 160 196 231 215 115 0
60 6.40 146 | 27.2 509 | 733 947 137 177 216 255 187 776 0
HEEPAE ZEUA I HFAYA Y FHTE TR L

606.78 584.55

51 641 618.90 596.67 157 80 25
12 165 147.21 124.98 100 70 25 52 653 631.20 608.79 157 80 25
13 177 159.20 136.97 110 75 25 53 665 643.14 620.91 157 80 25
14 190 171.22 148.99 120 75 25 54 677 655.26 633.03 157 80 25
15 202 183.25 161.02 120 75 25 55 689 667.38 645.15 157 80 25
16 214 195.29 173.06 130 80 25 56 701 679.50 657.27 157 80 25
17 227 207.35 185.12 130 80 25 57 713 691.63 669.40 157 80 25
18 239 219.41 197.18 130 80 25 58 726 703.75 681.52 157 80 25
19 251 231.48 209.25 130 80 25 59 738 715.87 693.64 157 80 25
20 263 243.55 221.32 130 80 25 60 750 727.99 705.76 157 80 25
21 276 255.63 233.40 130 80 25 61 762 740.11 717.88 157 80 25
22 288 267.72 245.49 130 80 25 62 774 752.23 730.00 157 80 25
23 300 279.80 257.57 130 80 25 63 786 764.35 742.12 157 80 25
24 312 291.90 269.67 130 80 25 64 798 776.48 754.25 157 80 25
25 324 303.99 281.76 130 80 25 65 811 788.60 766.37 157 80 25
26 337 316.09 293.86 130 80 25 66 823 800.72 778.49 157 80 25
27 349 328.19 305.96 167 80 25 67 835 812.85 790.62 157 80 25
28 361 340.29 318.06 167 90 25 68 847 824.97 802.74 157 80 25
29 373 352.39 330.16 167 90 25 69 859 837.10 814.87 157 80 25
30 385 364.50 342.27 167 90 25 70 871 849.22 826.99 157 80 25
31 398 376.60 354.37 145 80 25 n 883 861.34 839.11 157 80 25
32 410 388.71 366.48 145 80 25 72 896 873.47 851.24 157 80 25
33 422 400.82 378.59 145 80 25 73 908 885.59 863.36 157 80 25
34 434 412.93 390.70 145 80 25 74 920 897.71 875.48 157 80 25
35 446 425.04 402.81 145 80 25 75 932 909.84 887.61 157 80 25
36 458 437.15 414.92 145 80 25 76 944 921.86 899.73 157 80 25
37 470 449.26 427.03 145 80 25 77 956 934.09 911.86 157 80 25
38 483 461.38 439.15 157 80 25 78 968 946.21 923.98 157 80 25
39 495 473.49 451.26 157 80 25 79 980 958.33 936.10 157 80 25
40 507 485.60 463.37 157 80 25 80 993 970.46 948.23 157 80 25
4 519 497.72 475.49 157 80 25 81 1005 982.58 960.35 157 80 25
42 531 509.84 487.61 157 80 25 82 1017 994.71 972.48 157 80 25
43 543 521.95 499.72 157 80 25 83 1029 1006.83 984.60 157 80 25
44 556 534.07 511.84 157 80 25 84 1014 1018.96 996.73 157 80 25
45 568 546.19 523.96 157 80 25 85 1053 1031.08 1008.85 157 80 25
46 580 558.30 536.07 157 80 25 86 1065 1043.20 1020.97 157 80 25
47 592 570.42 548.19 157 80 25 87 1078 1055.33 1033.10 157 80 25
48 604 582.54 560.31 157 80 25 88 1090 1067.46 1045.23 157 80 25
49 616 594.66 572.43 157 80 25 90 1114 1091.71 1069.48 157 80 25

) 1A S48 dura Q] Ze-E el i Qe B R AR Aols 7IALA 71Ee R AAs AL ©, 719 wee] WA 22 Ao A dhEyr




+ Q! & AZa}A Chain & Sprocket 22 MUSSO POWER SYSTEM 23

MS 140 E=3 2221 A|2! (standard roller chain) MS 140 222 H|@] A2} (Roller chain sprocket)

8
w
S THETH TS & i1
~ #1271 . . &l g
= : ) Sa
$25.40 a|©
CDCDD O
44.45 | 44.45
L S 1 L T S 1 1
D JEET 8 e
0
o = Rl | L ; 1
o[t — o 1
<~ < (=P
L) | + | 1O
<R EEAEEE ST
L — @ r T
= ol t — )
s JEHTT
@

o A K.S EI-F_I‘EI-% MS "_g'_nﬂ" EI‘EI%% ilEH =_|9_=I_x 7HEFKEF
HQIHS N =T K.S Minimum MS Average =l Gl RS
Chain No. Uneenof Ultimate Strength Ultimate Strength Max. Allowable Load Approx. Weight
NicS (Kgf) (Kg/m)
(Kgf) (Kgf) M E
MS 140-1 1 17,400 22,000 4,100 7.49 -
MS 140-2 2 34,800 42,800 6,970 14.83 63 118.44
MS 140-3 3 52,200 64,200 10,250 22.20 1 178 157.78 132.38 100 70
MS 140-4 4 69,600 85,600 13,530 28.52 12 193 171.74 146.34 105 70
13 207 185.74 160.34 105 70
14 21 199.76 17436 115 80 54 790 764.47 739.07 190 140
CF —ads ... . 15 236 213.79 188.39 115 80 55 804 778.61 753.21
%é:llxl_ E!- =) —:||1H'- (Kilowatt rating tables) 16 250 227.84 202.44 120 80 56 818 792.75 767.35
17 264 241.91 215.51 120 80 57 832 806.90 781.50
P=4445mm(1 34" ) (@9 SR T T I
2 Amppsll 3% (r.p.m) 20 307 284.15 258.75 130 85 60 875 849.32 823.92 190 140
21 322 298.24 272.84 130 85 61 889 863.46 838.06
B © 5 | 0 100 150 | 200 250 300 350 400 450 500 550 | 600 700 800 900 1000 1100 1200 22 36 1234 78694 140 100 s 903 87761 8521
YAl A B C D 23 350 326.44 301.04 140 100 63 917 891.75 866.35
1 156 357 | 665 124 179 | 235 288 339 389 439 489 537 560 | 491 389 319 267 228 198 0 24 364 340.54 315.14 140 100 64 931 905.89 880.49
12 | 172 391 | 730 137 196 | 258 316 372 427 482 536 589 608 | 533 424 347 290 248 215 0 25 379 354.65 329.25 150 110 65 946 920.03 894.63
13 | 1.87 427 | 800 149 | 214 282 345 406 466 526 585 643] 700 631 500 410 343 293 254 0 26 393 368.77 343.37 150 110 66 960 93418 908.78
14 | 203 463 | 866 161 | 232 305 374 440 506 571 634 698 753 705 560 458 383 327 283 O 27 407 382.88 357.48 150 110 67 974 948.32 922.92
15 | 219 499 | 932 174 250 329 403 474 545 615 683| 753 821 783 621 508 426 363 298 0O 28 421 397.00 371.60 150 110 68 988 962.47 937.07
29 435 411.12 385.72 69 1002 976.61 951.21
16 | 234 534|998 186 268 353 432 509 584 659 733 806 880 858 683 560 468 401 259 0 30 450 42524 399.81 150 10 70 1016 990.75 065.35
| 17| 250 [570 106 199|286 377 460 543 624 703 785 858 940 940 746 613 513 439 222 0 3 464 43937 413,97 150 110 1 1031 1004.90 $79.50
= 18| 266 | 606 113 [ 211 304 401 489 577 662 746 828 910 992 103 813 671 560 477 169 0 3 478 453.49 42809 7 1045 1019.04 093,64
2 | 19| 28 | 644 117 | 224 323 425 522 612 703 791 880 970 106 111 888 724 606 518 970 0 33 ) ) W53 ) ) =3 5 103319 00779
20 | 298 | 680 127 | 236 341 448 548 647 [ 742 836 933 102 112 120 955 783 655 545 388 0 34 506 48175 456,35 74 1073 104733 102193
A | 21| 314|717 134 | 250 360 473 579 687 | 783 880 985 108 118 123 103 843 705 515 0 35 521 495.88 470.48 75 1087 1061.47 1036.07
o | 22| 330|756 141|263 378 498 609| 71.8 88 933 104 113 124 134 110 903 753 462 0 36 535 510.01 48461 76 1101 1075.62 1050.22
= | 23| 347 | 793 148 | 275 397 522 639| 753 865 977 108 119 130 140 118 962 806 418 0 37 549 524.14 498.74 77 1116 1089.77 1064.37
2t | 24 | 363|829 155 | 288 415 547 669 791 903 102 113 124 136 147 125 103 858 347 0 38 563 538.27 512.87 78 1130 1103.91 1078.51
| 25| 379866 161 | 302 435 571 699 821 947 107 119 130 142 154 134 110 895 282 O 39 577 552.40 527.00 79 1144 1118.06 1092.66
28 | 429 | 976 | 183 341 490 655 | 791 933 107 121 134 147 160 174 158 130 731 0O 2? Zg; :gg'g‘; 2‘5”5;‘7‘ 165 120 g? }Sg }}ig;g } :gg'gg
ol | 30 | 462|106 | 197 367 528 695|850 100 115 130 145 159 173 187 175 130 619 0 p 620 20481 2041 % 1186 16049 13500
732 | 49 | 113 | 211 393 567 [ 745 910 107 123 140 154 170 185 200 188 125 483 0 P 634 208,94 283.54 o 1200 117464 112924
T | 35| 546 125 | 232 434 625 | 8.1 101 119 136 154 171 187 204 221 181 107 215 O : : : :
40 | 631 144 | 269 501 | 721 947 116 137 157 178 197 216 236 231 155 642 0 44 648 623.08 >97.68 8 1215 1188.78 1163.38
45 662 637.22 611.82 85 1229 1202.93 1177.53
45 716 164 | 305 56.9 | 82.2 107 132 155 178 201 224 246 260 221 129 186 0 46 676 651.35 625.95 165 120 86 1243 1217.07 1191.67
50 | 800 183 | 341 637 | 91.8 121 148 174 200 225 251 276 246 198 880 0 47 691 665.49 640.09 87 1257 1231.22 1205.82
55 888 | 203 378 | 70.6 104 134 163 193 222 250 278 270 221 166 329 0 48 705 679.63 654.23 165 120 88 1271 1245.36 1219.96
60 | 976 | 223 415 | 778 113 147 180 212 243 275 295 245 185 121 0 49 719 693.77 668.37 90 1300 1273.66 1248.26

39

AL ool HFAYA ] FHakS HEeA L, F) L EY H42 QA B8 el glenz A Ao dW7|AEA Vel m A4 FAAL. T, 719 kel HellA e g2 Aoz A4 vl




+ #el & AZEp3 Chain & Sprocket 24 MUSSO POWER SYSTEM 25

MS 160 E=3 2221 A|€! (standard roller chain) MS 160 222 H|@1 A2} (Roller chain sprocket)

)
0 ©
& L T = T - ] t
el NI 21
& |#14.27 . i} &l T
< C T T .
ekl =) =) |——| o aj
#28.58 a| O]
EOCTO1 IO
50.80 | 50.80
% C i 1 C T i 1 1
: T IR
© S
R, N &' t T !
oot — | 1
0 [t} aq
I o
& — o .
= [ t T 4 1
s T
(=2}
C . T !

o A K.S EI‘E‘%I‘% MS "_g'_nﬂ" EI‘EI%% ilEH =_|9_=I_x 7HEF’<EF
HQIHS N =T K.S Minimum MS Average =l Gl RS
Chain No. Uneenof Ultimate Strength Ultimate Strength Max. Allowable Load Approx. Weight
NicS (Kgf) (Kg/m)
(Kgf) (Kgf) A A
[=] =
MS 160-1 1 22,700 27,500 5,400 10.10 ] C - BD Material
[t 2 CE L il Sk 20.04 60 10 186 164.39 135.81 100 70 50 838 809.04 780.46 227 140
MS 160-3 3 68,100 81,000 13,500 30.02 11 204 180.31 151.73 120 80 51 854 825.20 796.62 227 140
MS 160-4 4 90,800 108,000 17,820 40.06 12 220 196.28 167.70 120 80 52 870 841.36 812.78 227 140
13 237 212.27 183.69 130 90 53 887 857.52 828.94 227 140
14 253 228.30 199.72 130 90 54 903 873.68 845.10 227 140
CF —ads ... . 15 269 24433 215.75 130 90 55 919 889.84 861.26 227 140
%é:llxl_ E!- (=) —:||1H'- (Kilowatt rating tables) 16 286 260.39 231.81 130 90 56 935 906.00 877.42 237 140
17 302 276.46 247.88 140 100 57 951 922.17 893.59 237 140
P = 50.80mmQ2" ) (Ere k) 18 319 292.55 263.97 140 100 58 967 938.33 909.75 237 140
19 335 308.64 280.06 140 100 59 984 954.49 925.91 237 140
2 Anapl 3% (r.p.m) 20 351 324.74 296.16 140 100 60 1000 970.65 942.07 237 140
21 368 340.84 312.26 140 100 61 1016 986.82 958.24 237 140
B 0 5| S0 100|150 200 250 300 350 400 500 | 55 600 700 75 800 850 900 950 1000 22 284 156.96 1838 187 0 o 1032 100298 97400 737 140
e A B C D 23 400 373.07 344.49 187 110 63 1048 | 1019.14 990.56 237 140
1 | 229 524|977 182|262 339 415 489 562 633 721 626 547 435 392 356 313 201 970 0 24 416 389.19 360.61 187 110 64 1065 1 103530 1006.72 237 140
12| 251 576 107 202 | 287 372 455 536 617 696 [ 821 715 625 498 448 407 294 168 0 25 AEE 205357 TG 157 e 65 105 S 105 1F0/ D225 2] 120
13| 274 | 628 117 218 313 406 497 585 672 761 925 806 703 560 504 458 274 134 0 26 449 421.45 392.87 197 110 66 1097 | 1067.63 1039.05
14| 297 | 679 127 [ 236 339 440 538 633 729 | &1 101 895 783 625 562 512 255 101 0 2 465 43758 209700 197 0 6] L1508 /50 055977
15 | 319 | 7.36 136 | 254 366 474 580 683 783 | 888 108 100 873 694 624 494 236 671 0 28 481 453.72 42514 197 110 68 1129 1 1099.96 1071.38
29 498 469.85 441.27 197 110 69 1145 | 111613 1087.55
16 | 342 | 7.83 146 | 272 392 508 621 732 | 843 947 116 110 962 761 641 477 216 373 0 30 514 485,99 45741 197 10 70 162 113229 110371
. | 17| 366 83 156 291 418 542 663 783|895 101 124 120 105 836 657 460 197 0 = 530 T59115 AR 267 30 = TEr | SV O
DnfiBse maloe o o meme s o mom i n o0 o B AR ER AR x|l e e
= - - : : - : : : - - - - 33 562 534.42 505.84 207 120 73 1210 | 1180.79 115221
20 | 436 | 100 [ 186 347 499 647 791 | 932 107 121 148 158 134 101 709 403 134 0 34 579 55057 521.99 207 120 74 1226 | 119695 116837
A | 21| 460 | 105 | 196 366 526 682 836 985 113 128 156 160 144 955 651 363 115 0 35 595 566.71 538.13 207 120 75 1243 | 1213.11 1184.53
o | 22| 48 | 111 207 385 553 717 | 873 103 119 134 164 161 154 903 594 322 0 36 611 582.86 554.28 207 120 76 1259 | 122928 1200.70
= 123|507 116 216 404 580 753 918 108 124 140 172 163 153 950 536 282 0 37 627 599,01 570.43 207 120 77 1275 | 124545 1216.87
2t | 24 | 531 | 122 | 227 422 607 791 | 9%2 113 130 147 179 164 151 798 479 242 0 38 644 615.17 586.59 207 120 78 1291 1261.61 1233.03
| 25| 555 | 128 | 237 442 635 821 101 119 136 154 18 166 150 746 421 142 O 39 660 631.32 602.74 207 120 79 1307 | 1277.78 1249.20
28 | 627 144 | 268 499 711|932 113 134 154 174 194 168 145 589 250 0 40 676 647.47 618.89 207 120 80 1323 1293.94 1265.36
4 692 663.63 635.05 217 130 81 1340 | 131011 128153
o | 30| 676 154 | 289 538 776 | 100 122 144 166 187 201 172 142 485 134 0
“ 132 724 166 310 577 [88 107 131 154 178 201 198 166 134 388 O 42 708 679.78 651.20 217 130 82 1356 | 1326.28 1297.70
= | 35| 798 183|341 635|910 119 145 170 19% 221 19% 160 122 224 0 = L e BIED 217 L LB 552 IE22, 51
40 | 925 [ 211 394 733 | 105 136 167 197 227 255 194 149 101 0O 44 741 712.09 683.51 217 130 84 1388 | 135861 1330.03
45 757 728.25 699.67 217 130 85 1404 | 137478 1346.20
45 104 | 239 447 | 828 119 155 190 224 257 254 177 116 783 0 46 773 744.40 715.82 227 140 86 1420 1390.94 1362.36
50 | 1.7 | 268 50.0 | 93.2 134 174 213 251 288 254 160 8.1 O 47 789 760.56 731.98 227 140 87 1437 1407.11 1378.53
55 13.0 | 298 555 | 104 148 192 236 278 302 254 132 373 0 48 806 776.72 748.14 227 140 88 1453 1423.27 1394.69
60 | 142 | 327 61.0 | 113 163 212 259 305 310 254 104 52 O 49 822 792.88 764.30 227 140 90 1485 1455.61 1427.03
Mg AL 2 o819l FFAYA ] FHS ARG L ) LY F42 GubAel 95 veda gloen g AA Alol= dR7|AAA 7|2 o' AR AL, o, 719] Heel el A E 2 Ao g A% vl




+ ®|2l & AmE}3ll Chain & Sprocket 26 MUSSO POWER SYSTEM 27

MS 180 E=3 22021 A|€! (standard roller chain) 2= H|Q] (Standard roller chain)

71

é o745 |’7|+<H 74. E § 7 jl EE ; #1985 |’7|++| 74. g
T 935,71 T #3968
EIECD O o) CEDICORF
57.15 | 57.15 63.50 | 63.50

¥
-]

75.35
|
\

65.8

1]
$
+

MS "# mEsts
MS Averange
Ultimate Strength
(Kgf)

MS "# miEtsts
MS Average
Ultimate Strength
(Kgf)

_ _ o A K.S TEHsHS
HelHs =T K.S Minimum

Chain No. hitibeof Ultimate Strength
Strands
()

) o A K.S mEHsts
HeIHS =T K.S Minimum
Chain No. Ultimate Strength

(Kgf)

Hesy
Approx. Weight
(Kg/m)

HEy
Approx. Weight
(Kg/m)

Z|i S18stE
Max. Allowable Load
(Kgf)

Z|ti S1&8sts
Max. Allowable Load
(Kgf)

Number of

MS 180-1 1 28,700 36,500 6,200 13.45 MS 200-1 35,400 47,000 7,300
MS 180-2 2 57,400 73,000 10,540 26.52 o MS 200-2 70,800 94,000 12,410 3263 e
MS 180-3 3 86,110 109,500 15,500 38.22 MS 200-3 106,200 141,000 18,250 49.02
MS 180-4 4 114,815 146,000 20,460 50.90 MS 200-4 141,600 188,000 24,090 65.16
a1 . i1 .. .
S é:! ! S —:|. H (Kilowatt rating tables) . é:! et S —1. H (Kilowatt rating tables)
P =57.15mm(2 114" ) (Er91:kw)

&2 Amapi 374 (rpm)

100 150 200 250 300 350 400 450 500 550 | 600 650 700 750 800 850 900 950 1000 1050 1100 5 10 15 20 30 40 50 60 80 100 150 200 250 300 | 350 400 450 550 600 650
EEER A B C EEER A B C D
9 298 677 126 235 339 439 536 632 726 819 686 586 508 445 395 354 319 289 264 242 224 207 192 180 1 225 420 605 78 | 113 146 179 210 273 | 333 481 623 761 895| 101 91 776 434 232 O
10 | 331 755 141] 263 379 492 601 708 814 91.8 522 463 414 374 339 310 284 262 242 225 21.0 12 248 462 665 858 | 124 161 196 231 300 | 366 528 684 836 985| 108 97 821 443 219 0
1" 368 837| 157 292 421 544 666 785 902 102 .1 686 602 534 478 431 391 357 350 302 280 260 242 13 270 503 724 940 | 135 175 214 252 327 | 400 576 745 910 | 107 115 102 8.8 448 201 O
12 405 923|172 321 462 599 732 862 99.1 112 903 783 686 609 545 49.1 445 407 374 345 319 296 27.7 14 292 545 783 101 | 146 190 232 273 | 354 433 624 806 985 | 116 122 107 895 446 178 0
13 439 100| 187 36.0 504 663 798 940 108 | 122 120 101 83.0 768 68.6 614 554 503 459 421 389 360 334 0 15 315 587 843 | 110 158 204 250 295 | 382 466 672 873 | 107 128 128 113 932 440 150 O
14 | 476 109 203 379 546 707 85 102 117 ] 132 134 113 985 858 76.1 686 618 562 513 471 434 402 374 0 16 337 630 910 | 11.7 169 219 268 31.6| 401 500 721 933 | 114 134 134 117 9.2 429 116 O
. 15 513 11.7] 219 408 588 762 931 110 126 142 149 126 109 955 850 761 686 623 568 522 481 445 414 0 . 17 360 672 970 | 125 180 234 286 | 337 436 534 768 100 | 122 140 140 122 985 412 753 0
- 16 551 126| 235 438 63.1 81.7 998 118] 135 152 164 139 120 105 933 836 753 686 627 575 53.0 491 457 0 - 18 383 7.5 103 | 134 192 249 304 | 358 465 568 821 106 130 145 145 125 101 392 307 O
2| 17 588 134 25.0 467 673 872 107 [ 126 144 163 181 152 132 116 102 91.8 828 746 686 630 581 538 0 2|19 | 406 761 109 | 142 204 264 322|380 492 602 85| 113 137 151 150 128 102 364 O
18 | 625 143|266 497 716 988 113 | 134 154 173 192 166 143 126 112 100 903 821 746 686 633 586 0 20 | 430 798 116 | 149 216 279 341 | 402 521 636 918 119 145 172 154 132 104 333 0
A | 19| 662 151|282 527 759 984 120 | 142 163 184 204 180 155 137 121 108 977 888 813 745 686 636 0 21 453 843 | 122 157 227 294 36.0 | 424 549 671 970 125 153 177 159 134 104 295 0
o 20 703 16.0] 299 557 802 104 127 | 150 172 194 216 194 168 148 131 117 105 955 873 806 741 686 O = | 22 476 888 | 128 166 239 31.0 | 378 445 577 706 101 131 161 183 163 136 104 254 0
-2 740 | 169 315 587 846 110 | 134 158 181 204 227 209 181 159 141 126 113 103 940 865 798 739 0 - 23 500 932 | 134 174 251 324 | 397 467 168 188 166 137 104 207 O
2t | 22 7.7 | 17.7 331 61.8 889 115 | 141 166 191 215 239 224 194 170 151 135 122 110 101 925 858 0 gt | 24 523 977 | 140 182 262 340 | 416 489 177 192 170 140 104 157 O
2 23 815|186 347 648 933 121 | 148 174 200 226 251 241 207 182 161 145 131 119 108 992 918 0 2 25 546 102 | 147 190 274 355 | 434 511 185 197 173 142 103 100 0
24 | 856 | 195 363 678 977 127 | 155 182 209 236 263 257 221 194 172 154 139 126 115 106 97.7 0 28 6.18 115 | 166 215 31.0 | 40.1 491 57.7 209 209 180 143 985 O
ol | 25 893 | 203 380 709 102 132 | 162 191 219 247 274 273 235 207 183 164 148 134 122 113 104 0 o) | 30 6.65 | 124 179 231 333 | 433 528 622 224 216 184 142 932 O
: 26 | 930|212 396 740 107 169 199 228 258 286 290 249 219 194 174 157 143 130 119 0 : 32 713 | 133 192 248 358 | 463 56.7 66.8 241 222 185 140 88 0
T | 28 10.1 | 23.0 429 80.1 115 183 215 247 279 310 324 279 245 217 194 175 159 145 133 0 T | 35 783 | 147 211 274 | 394 511 624 736 257 228 186 134 718 0
30 109 | 248 462 863 124 | 161 197 232 267 301 334 359 309 272 240 216 194 176 161 148 0 40 910 | 169 244 316 | 455 59.0 721 85.0 271 232 180 116 407 O
32 116|266 496 926 133| 173 211 249 286 322 358 394 340 299 265 237 214 194 178 0 45 103 192 27.7 | 359 517 670 821 9.2 | 125 153 220 285 278 230 166 88 0
35 12.8 {293 546 102 | 147 190 233 274 315 355 395 434 389 342 303 272 245 217 164 O 50 116 216 310 | 419 580 753 918 108 | 140 172 247 319 280 221 144 523 0
40 148 | 33.8 63.1 118 | 170 220 269 317 364 410 456 463 429 391 347 297 242 182 O 55 128 239 344 | 445 642 86 102 | 120 155 189 273 324 277 205 114 O
45 169 | 384 71.7 134 | 193 250 305 360 413 466 507 471 431 383 329 269 202 O 60 141 262 378 | 489 708 918 112 | 131 17 208 301 327 267 182 761 O
* UYL 2ol HFUYA ] FHAS BRI 0, *PYAL 2o HIFUYA FRUS Y20,




+ ®Q & Amatu

Chain & Sprocket

28

MS 200 222 H|Q] A2} (Roller chain sprocket)

R
Material Material
1 254 225.39 185.70 152 51 1068 1031.50 991.81 965
12 275 24534 205.65 173 52 1088 1051.70 1012.01 986
13 296 265.34 225.65 193 53 1108 1071.90 1032.21 1006
14 316 285.37 245.68 214 54 1128 1092.10 1052.41 1026
15 337 305.42 265.73 235 55 1149 1112.30 1072.61 1046
16 357 325.49 285.80 255 56 1169 1132.50 1092.81 1066
17 378 345.58 305.89 275 57 1189 1152.71 1113.02 1087
18 398 365.68 325.99 296 58 1209 1172.91 1133.22 1107
19 419 385.79 346.10 316 59 1230 1193.11 1153.42 1127
20 439 405.92 366.23 337 60 1250 1213.31 1173.62 1147
21 459 426.05 386.36 357 61 1270 1233.52 1193.83 1168
22 480 446.20 406.51 377 62 1290 1253.72 1214.03 1188
23 500 466.34 426.65 398 63 1310 1273.92 1234.23 1208
24 520 486.49 446.80 18 64 1331 1294.13 1215.44 1228
25 541 506.65 466.96 438 65 1351 1314.34 1274.65 1249
26 561 526.81 487.12 459 66 1371 1334.54 1294.85 1269
27 581 546.98 507.29 479 67 1391 1354.75 1315.06 1289
28 602 567.14 527.45 499 68 1412 1374.95 1335.26 1309
29 622 587.32 547.63 520 69 1432 1395.16 1335.47 1329
30 642 607.49 567.80 540 70 1452 1415.36 1375.67 1350
31 663 627.67 587.98 560 71 1472 1435.57 1395.88 1370
32 683 647.85 608.16 580 72 1493 1455.78 1416.09 1390
33 703 668.03 628.34 601 73 1513 1475.98 1436.29 1410
34 723 688.21 648.52 621 74 1533 1496.19 1456.50 1431
35 744 708.39 668.70 641 75 1553 1516.39 1476.70 1451
36 764 728.58 688.89 662 76 1573 1536.60 1496.91 1471
37 784 748.77 709.08 682 77 1594 1556.81 1517.12 1491
38 804 768.96 729.27 702 78 1614 1577.02 1537.33 1511
39 825 789.15 749.46 722 79 1634 1597.22 1557.53 1532
40 845 809.34 769.65 743 80 1654 1617.43 1577.74 1552
1 865 829.53 789.84 763 81 1674 1637.64 1597.95 1572
42 885 849.73 810.04 783 82 1695 1657.85 1618.16 1592
43 906 869.92 830.23 803 83 1715 1678.06 1638.37 1613
44 926 890.11 850.42 824 84 1735 1698.26 1658.57 1633
45 946 910.31 870.62 844 85 1755 1718.47 1678.78 1653
46 966 930.50 890.81 864 86 1776 1738.67 1698.98 1673
47 987 950.70 911.01 884 87 1796 1758.89 1719.20 1693
48 1007 970.90 931.21 905 88 1816 1779.09 1739.40 1714
49 1027 991.10 951.41 925 89 1836 1799.30 1759.61 1734
50 1047 1011.30 971.61 945 90 1856 1819.51 1779.82 1754
) LAY 542 4ury

2Rl 795 el lenz AA Alofe dRb|AAEA 71Eos A FAA L. o, 719 Hke] e 2 4o AA gy

MUSSO POWER SYSTEM 29

MS 240 H=

2= H|Q] (Standard roller chain)

#2381

55

|
|
I==l

555 47.9

91.9

99.4

$47.63
{ N (% @}
o
~
C E’I
o T
2 T
O
Ll r
| |
|
+ |
I
w| R T
I~ L 1
3| @] k
¥ L
C . T
—F

K.S mEsts

MS Tz oS

- = H £ e Z|ch si8sts VB
o[ 2 T S
?L‘—. == Number of S WU A Max. Allowable Load | Approx. Weight
ain No. Ultimate Strength Ultimate Strength
Strands (Kah) (Kgf) (Kgf) (Kg/m)
MS 240-1 51,100 69,000 10,100 24.5
MS 240-2 102,200 138,000 17,170 48.1
MS 240-3 153,300 207,000 25,250 71.6 40
MS 240-4 204,400 276,000 33,330 95.1
L— 7 . .
SHME SEHHE (ilowatt rating tables)

5 10 15 20 25 30 35 40 50 60 80 100 125 150 175 | 200 250 300 350 450
EE A B c J
1 364 680 977 127 | 155 183 237 290 341 | 442 539 660 776 895 947 | 962 947 895 813 707
12 400 746 107 140 ] 170 201 260 318 | 375 485 593 725 850 977 102 | 104 102 955 865 754
13 436 813 11.7 | 151 186 219 284 346 | 408 528 646 79.1 933 107 110 112 109 102 91.8 79.1
14 | 472 880 164 201 237 307 375 | 442 573 700 858 101 14 | 117 119 116 108 97.0 828
15 5.09 947 178 216 255 331 | 404 476 61.7 754 925 109 122 125 126 122 114 102 88.0
16 5.45 144 190 232 274 355|433 510 661 806 985 116 128 | 132 133 128 119 106 895
xt 17 5.83 157 203 248 292 378 | 463 545 706 865 105 125 136 139 140 135 125 110 925
- 18 6.19 166 216 263 310 | 402 492 580 754 918 112 132 | 143 146 146 141 130 114 947
2 19 6.57 177 229 280 329 | 427 522 614 798 970 119 140 149 152 153 146 134 118  97.0
20 6.95 187 242 295 348 | 451 548 650 843 103 126 | 149 155 159 159 152 139 121 98.5
21 733 | 13.7 197 255 313 367 | 474 581 685 888 108 138 156 162 165 165 157 143 124 100
= | 22 768 | 143 207 268 328 386 | 500 611 720 933 114 | 140 162 168 172 171 162 147 127 101
- | 23 806 | 15.1 21.7 281 344 | 405 524 641 754 977 119 146 169 175 178 176 167 151 129 102
gt | 24 844 | 15.7 227 295 360 | 424 549 671 791 102 125 | 153 175 181 184 182 172 154 131 102
2 25 880 | 165 237 30.7 376 | 443 574 701 828 107 131 160 180 187 190 187 176 157 133 102
28 10.0 | 187 269 348 425 | 501 649 79.1 933 121 148 181 197 203 206 201 188 166 137 101
ol 30 10.7 | 201 289 375 | 458 540 699 858 101 131 160 195 208 214 216 210 195 169 137 97.7
R 32 116 215 31.0 401 | 491 578 746 91.8 108 140 | 171 207 218 224 225 218 201 173 137 94.0
T | 35 127 237 342 442 | 541 637 828 101 119 154 188 222 233 238 239 230 207 175 134 85.0
40 147 274 395 | 511 624 736 955 116 137 | 177 218 245 255 259 258 244 215 175 124 642
45 166 31.1 | 448 580 709 936 108 132 156 202 247 265 275 277 274 254 217 167 106 348
50 187 349 | 502 651 798 940 122 149 | 175 226 266 283 291 292 286 259 213 154 813 O
55 20.7 | 386 556 721 880 104 134 164 194 251 282 298 305 303 295 259 204 134 484 0
60 228 | 425 611 791 970 114 148 | 181 213 276 297 312 316 311 299 255 190 107 85 0
#RTAS 2eA HFUAS TS BRI,

= 0




+ Hel & AZ23U Chain & Sprocket 30 MUSSO POWER SYSTEM 31

MS 240 222 X9 A2} (Roller chain sprocket) MS = A2} (Double sprocket)

A\
.\,7,
a
SaEERE
=
B.L
441
441 ]
™ |
.\.7
kﬁ
[a] [=]
98  F—=age
+
B.L
(EH2{:mm)
= SP35 X 2 SP40 X 2 SP50 X 2 SP60 X 2 SP80 X 2 SP 100 X 2 SP120 X 2
= x|ET41 x|ET70 x|ET84 x|ET113 x|ET141 NEREVA) LER YN
Material . .C. . ! Material d )
11 305 270.47 222.84 183 51 1281 1237.80 1190.17 1158 (=] HAZA
12 330 294.41 246.78 207 52 1305 1262.04 1214.41 1183 3 2 85
13 355 318.41 270.48 232 53 1330 1286.28 1238.65 1207
Vi 35 ST ST T =7 B BT 156389 ET 112 35 8 |32 45 10|40 45 12 | 48 55 12 |65 65 16 |8 8 25 | 97 120 25
15 404 366.50 318.87 282 55 1378 1334.76 1287.13 1256 12129 35 8 |36 45 12 |45 45 12 | 54 5 16 |73 65 16 | 90 8 25 /109 120 @ 25
16 429 390.59 342.% 306 56 1430 1359.00 1311.37 1280 13 | 30 35 10 40 45 12 50 45 12 60 55 16 | 81 65 16 | 100 85 25 | 121 120 25
17 453 414.70 367.07 331 57 1427 1383.25 1335.62 1304
7 78 13663 39179 358 =3 Vi VRTIE 135686 558 14 | 33 35 10 43 45 12 55 45 12 66 55 16 | 89 65 16 | 110 85 25 1133 1120 25
20 527 487.11 439.48 404 60 1500 1455.98 1408.35 1377 16 | 38 35 12 50 45 12 65 50 16 78 60 19 102 70 19 | 130 85 25 | 157 120 25
2 551 511.26 463.63 429 61 1524 | 148022 1432.59 1401 17| 40 35 12 |54 45 12|70 50 16 | 8 60 19 (110 70 19 |140 8 25 |157 120 25
2 576 535.43 487.80 453 62 1548 1540.47 1456.84 1426
” 200 25061 51198 pis s 1973 192871 148108 1450 18| 4 35 12 | 57 45 12 |75 50 16 | 90 60 19 [120 70 19 |[140 100 25 |157 120 @ 25
7 5 Er S = = e s R o 19 4 35 12 60 45 16 | 80 50 16 | 9% 60 19 |127 70 19 | 150 100 25 | 157 120 25
25 649 607.98 560.35 526 65 1621 1577.20 1529.57 1498 2050 35 12 |66 50 16 | 8 50 16 | 102 60 19 [135 70 25 |150 100 25 |157 120 @ 25
26 673 632.17 584.54 551 66 1645 1601.45 1553.82 1523 21 53 40 12 70 50 16 86 50 16 | 108 60 19 [ 110 85 25 | 150 100 25 |[157 120 25
27 698 656.37 608.74 575 67 1670 1625.70 1578.07 1542
5E = e ) = Fs e CErET e e 22 55 40 12 74 50 16 93 50 16 | 108 60 19 [120 85 25 | 150 100 25 |[157 120 25
%9 706 70478 65715 624 6 | 1718 | 167419 | 162656 1595 2357 40 16 |78 50 16|95 50 16 | 108 60 19 [120 85 25 | 150 100 25 | 157 120 25
30 771 728.99 681.36 648 70 1742 1698.44 1650.81 1620 24 | 60 40 16 80 50 16 95 50 16 | 108 60 19 [120 85 25 | 150 100 25 | 157 120 @ 25
31 795 753.20 705.57 672 7 1767 1722.68 1675.05 1644 25 | 63 40 16 85 50 16 95 50 16 | 108 60 19 | 140 85 25 | 150 100 25 |[157 120 25
gg 212 ;(7)17:5 ;gjgg ‘;gz ;g };?]3 1;‘;?’;"’: 1%’22‘5’ }ggg 26|65 40 16 | 78 50 16 | 98 55 19 | 108 65 25 |140 8 25 150 100 25 |167 120 32
34 868 825.86 77823 745 74 1840 | 179542 1747.79 1717 27|70 40 16 | 78 50 16| 98 55 19 | 108 65 25 140 8 25 | 150 100 25
35 892 850.07 802.44 770 75 1864 1819.67 1772.04 1741 28 | 72 40 16 78 50 16 98 55 19 | 108 65 25 | 150 @ 85 25 | 150 100 25
36 917 874.30 826.67 794 76 1888 1843.92 1796.29 1765 29| 74 4 16 | 78 50 16 | 98 55 19 | 108 65 25 /150 8 25 | 150 100 25
SO e o o L I I L I s e 30 76 40 16 | 78 50 16 98 55 19 | 108 65 25 150 8 25 | 150 100 25
39 990 946.98 899.35 867 79 1961 1916.67 1869.04 1838 31070 45 16 | & 55 19 | 98 55 19 [ 108 65 25 [147 8 25
40 1014 971.21 923.58 891 80 1585 1940.91 1893.28 1862 32/ 70 45 16 | 8 55 19 | 98 55 19 | 108 65 25 |147 8 25
M 1038 995.44 947.81 916 81 2009 1965.17 1917.54 1887 33/ 70 45 16 | 8 55 19 | 98 55 19 | 108 65 25 |147 8 25
43 1087 1043.90 996.27 964 83 2058 2013.67 1966.04 1935
44 111 1068.13 102050 988 84 2082 2037.67 1990.29 1960 3070 45 16 | & 5 19 | 98 55 19 [ 108 65 25 |147 8 25
45 1135 1092.37 1044.74 1013 85 2106 2062.16 2014.53 1984 36, 70 45 19 | 8% 55 19 | 98 5 25 /108 65 25 [147 & 25
46 1160 1116.60 1068.97 1037 86 2131 2086.41 2038.78 2008 37 | 70 45 19 | 8 55 19 | 98 55 25 | 108 65 25 |147 8 25
47 1184 1140.84 1093.21 1061 87 2155 2110.66 2063.03 2032 38|70 45 19 | 8 55 19 | 98 55 25 | 108 65 25 |147 8 @ 25
48 1208 1165.08 1117.45 1086 88 2179 2134.91 2087.28 2057
49 1233 1189.32 1141.69 1110 89 2204 2159.17 2111.54 2081 39070 45 19 | 8 55 19 | 98 55 25 108 65 25 |147 8 25
50 1257 1213.56 1165.93 1134 9 2228 2183.41 2135.78 2105 40 |70 4 19 | 8 55 19 | 98 55 25 | 108 65 25 |147 | 8 25
) 1. Al 742 GRHAQl A5 YER AL Qlong A Aloli= Yu7AAA 7R o8 AR AL, o, 719 Htol HeAe 22 Ao & AR uigrt,




+ Q! & AZa}A Chain & Sprocket 32 MUSSO POWER SYSTEM 33

MS C=IL|X| |2l (Double pitch chain) MS 53 HEfX|HE x||9] (Standard attachment chain)

Q\l’N— 0 N
I G GO e
:%’N‘T‘—‘“‘ :‘ngi :l I 1 II [ gg’i
SR x#ﬁ%j .
TYPE S-ROLLER H Tleflelefle] ]
= ey ~—o] b =
T e a ] Cgﬁ%i = YCSRESEE
JD[L%} B! o= z S BE
ﬁ = L T T 1 L T 1 A-1 ATTACHMENT K-1 ATTACHMENT
—F &
EH G D B
P P

L2 L4

TYPE R-ROLLER

L . :
o i i | =
e =
ﬁ g | | 4[7 T T I l ‘lﬁ D-1 ATTACHMENT D-3 ATTACHMENT
(e =0y (o —o) —©) =
P P

ol x| W= 2237 o Pin Z30| Plate Harmat

6.35 3.10 330 231 3.80 0.75 0.14 480
9.525 468 5.08 358 5.85 6.85 8.7 125 033 320
12.70 7.85 7.92 3.9 8.25 9.95 12.0 15 0.64 240
15.875 9.40 10.16 5.08 103 12.0 15.0 2.0 1.04 192
19.05 1257 11.91 5.94 12.85 14.75 18.1 2.4 153 160
W = ggagm ul P|n =a1|o|E p|ate 25.40 15.75 15.88 7.92 16.25 19.25 24.1 32 2.66 120
H2AHS 31.75 18.90 19.05 9.53 19.75 22.85 30.1 4.0 3.99 9%
Chain No. SROLLER RROLLER 38.10 25.22 22.23 11.1 24.90 28.90 36.0 48 5.93 80
w 44.45 2522 25.40 12.71 26.90 31.70 0.0 56 7.49 68
50.80 3155 2858 1427 31.85 36.85 480 6.4 10.10 60
MS 2040 | 25.40 | 7.85 794 | 1588 | 82 9.9 3.9 0 5 1,700 | 270 | 051 | 087 120
O{Ef X|HE Attachment Attachment 1 7HE BE71E2F (K
MS 2050 | 3175 | 940 | 10.16 | 19.05 | 1030 | 12.0 508 | 150 | 2.0 | 2,800 | 440 | 084 | 130 %
--“ﬂ-------
MS 2060 | 38.10 | 1257 | 1191 | 2223 | 1455 | 16.55 594 | 18.1 3.2 4,100 | 640 1.51 2.19 80 Ms 25 7.15 7.95 475 | 107 | 107 | 11.65 0.0003 0.0006
MS 35 95 95 7.9 34 | 635|143 | 143 | 1455 | 95 | 146 0.0008 0.0016 5
MS 2080 | 50.80 | 1575 | 1588 | 2858 | 1830 | 2090 = 792 | 241 | 40 | 7,000 1,090 | 266 | 3.68 60 MS 40 127 | 127 | 95 | 36 | 80 178 | 178 | 1740 | 95 [ 168 | 0002 0.004 0.0008
MS 50 159 | 159 | 127 52 | 103 | 234 | 234 | 2305 | 119 | 210 0.003 0.006 0.0017
MS 2100 | 6350 | 1890 | 19.05 | 39.67 | 21.80 | 2450 | 953 | 301 | 48 | 11,000 | 1,740 | 399 | 630 48 Ms 60 19.05 | 183 | 159 52 | 119 | 282 | 282 | 2685 | 143 | 2585 | 0.007 0.014 0.0030
MS 80 254 | 246 | 191 68 | 159 | 366 | 366 | 3545 | 19.1 | 339 0.013 0.026 0.0070
MS 2120 | 7620 | 2522 | 2223 | 4445 | 2695 | 3055 | 11.1 36 56 | 15400 | 2,440 | 535 | 8.60 40 M5100 | 3175 | 318 | 254 87 | 198 | 443 | 449 | 4400 | 238 | 4185 0.026 0.052 0.0120
MS120 | 381 | 365 | 286 | 103 | 230 | 558 | 512 | 52.85 | 286 | 51.4 0.044 0.088 0.0200
MS140 | 445 | 445 | 349 | 119 | 286 | 631 | 580 | 635 | 333 | 575 0.071 0.142 0.0300
MS 2160 | 101.6 | 3155 | 2858 | 57.15 | 3395 | 3845 | 1427 | 480 | 72 26300 | 4170 | 942 | 11.79 30
MS160 | 508 | 508 | 381 | 143 | 318 | 71.8 | 660 | 70.10 | 381 | 67.4 0.097 0.194 0.0440




+ ®|2l & AmE}3ll Chain & Sprocket 34 MUSSO POWER SYSTEM 35

MS CSI|X| HEHX|HE X|Q! (Double pitch attachment chain) MS G =I|X| AO|E 2F2{ #|2! (Double pitch side roller chain)

N

O K
. B\
L= et Z-TYPE SIDE-ROLLER
x:IDz = 7;; _Ds_
I a8 N A L *4‘7«—1 R2
o : g8 11 o [ ar
FE , T AT s
P 7] — 0 T L) e
A-2 ATTACHMENT K-2 ATTACHMENT
TG © -
bl =— = :% = P P
ﬂ%@ﬁs S =
01 _N_‘ — 01 _N_‘
o[ &1 a9 = 9
b —& Hﬁﬁ il e H K-TYPE SIDE-ROLLER
P P P P | _Ds_,

SA-1 ATTACHMENT SK-1 ATTACHMENT

L2

L
yi
4

12, L4
‘ (= Kl
i
Bl
J|.T
‘LZ L4
i
]
==
j
| T

A
%
—@ 4

fx— =) ﬁ# x— T@‘@Il P P

D-1 ATTACHMENT D-3 ATTACHMENT

(EF2{:mm)
4% | =saz | P — Seols | om=sd|  Aoi=2gd pig
=] F
N n---- o | O T T T

Steel —.—II _|_-.-
MS 2040 25.40 7.85 7.94 15.88 3.96 8.25 9.95 12.0 0.51 0.87

MS 2040 SD 25.40 7.85 7.94 9.6 7.9 1930 | 3.9 12.00 5 15.88 7.8 0.014 | 0.004 | 0.007
MS 2050 31.75 9.40 10.16 19.05 5.08 10.30 12.0 15.0 2.0 0.84 1.30
MS 2060 38.10 12.57 11.91 22.23 5.94 14.55 16.55 18.1 3.2 1.51 2.19

MS 2080 50.80 1575 15.88 28.58 792 1830 20.9 241 40 266 368 MS 2042 SD 25.40 7.85 15.88 9.65 17.9 1930 | 3.96 12.00 1.5 23.00 7.80 | 0.029 | 0.007 | 0.016
MS 2100 63.50 18.90 19.05 39.67 9.53 21.80 24.5 30.1 4.8 3.99 6.30

MS 2120 76.20 2522 22.23 4445 11.10 26.95 3055 36.0 56 535 860 MS 2050 SD 31.75 9.40 | 10.16 | 11.90 | 21.60 | 23.20 | 5.08 15.00 2.0 19.05 9.40 | 0.024 | 0.006 | 0.012

MS 2160 101.60 31.55 28.58 57.15 14.27 33.95 38.45 48.0 7.2 9.42 11.79
MS 2052 SD 31.75 9.40 | 19.05 | 11.90 21.60 | 23.20 | 5.08 15.00 2.0 27.00 9.40 | 0.050 | 0.013 | 0.030
O{EfX|HE Attachment Attachment 1 7HE 271=52F (Kg) MS 2060 SD 38.10 | 12.57 11.91 | 16.95 29.65 | 32.05 5.94 18.10 3.2 22.23 | 1260 | 0.043 | 0.010 | 0.025
B A T S A S N
MS 2062 SD 38.10 | 1257 | 22.23 | 16.95 29.65 | 32.05 | 594 18.10 3.2 30.00 | 12.60 | 0.077 | 0.019 | 0.049
MS 2040 127 | 11.1 | 1941 193 | 176 | 198 16.85 0.003 0.006 0.0008
MS 2 15. 14. 23. 11. 2 ' 11.1 | 242 | 22. 24, 119 | 211 I .012 .0017
52050 29 3 38 9 > 68 0 6 o > 0.006 00 0.00 MS 2080 SD 50.80 | 15.75 | 15.88 | 20.95 36.65 | 39.65 | 7.92 24.10 4.0 2858 | 15.80 | 0.086 | 0.025 | 0.045
MS 2060 21.45| 175 | 286 | 143 5.2 8.7 147 | 315 | 282 | 30.6 | 143 |27.50 0.017 0.034 0.0030
MS 2080 27.8 | 22.2 | 381 | 19.1 6.8 | 10.3 | 19.1 | 40.7 | 36.6 | 40.5 | 19.1 | 35.58 0.037 0.074 0.0070 e i TR aEsE | e i | e 7 . " soin | EE GED G6EE | GO
MS 2100 33.35| 28,6 | 476 | 23.8 87 | 143 | 234 | 499 | 449 | 504 | 23.8 | 43.58 0.067 0.134 0.0120 ’ ' ’ ' ’ ' ' ’ ’ ’ ’ ’ ’ ’
MS 2120 39.7 | 333 | 57.2 | 286 | 140 | 16.0 | 27.8 | 60.7 | 544 | 59.9 - - 0.100 0.200 0.0200
MS 2160 5239 4445| 762 | 381 | 161 | 195 | 365 | 790 | 71.0 @ 786 ) ) 0213 0426 ) MS 2100 SD 63.50 | 18.90 | 19.05 | 2450 | 4420 | 47.30 | 9.53 30.10 438 39.67 | 19.00 | 0.195 | 0.055 | 0.092

MS 2102 SD 63.50 | 1890 | 39.67 | 2450 | 44.20 | 47.30 | 9.53 30.10 4.8 50.80 | 19.00 | 0.32 | 0.072 | 0.205




+ #el & AZEp3 Chain & Sprocket 36 MUSSO POWER SYSTEM 37

MS EIL|X| S2=2] X|C! (Double pitch top roller chain)

=
w
H
M
09
Im
Hu
Il

]
S
ro
@
&

o
(o
g

©

S
&
=

==

Z1ol=)

A\

| Xsa

b

222 I =TT e g2zl

<E3|5-I-HE-—'|E S 'I OI'S ) =] 0{00}3
KN(kgf) : E:rlE 2 EE 2 KN(kgf)

MS 40 12.70 7.85 7.92 397 82 | 925 - - 120 15| - 16.7(1700) | 2.65(270) MS 2040 | 2540 | 7.85 | 794 | 1588 | 3.96 9.95 - 120 | 15 - | 16.7(1700)| 2.65(270)
MS 50 15.875 9.40 1016 509 103 | 1185 - - 1501 20| - 27508000 | 431(440) MS2050 | 31.75 | 940 | 10.16 | 19.05 | 508 | 105 | 11.95 | - - 150 | 20 | - | 27.5(2800) 4.31(440)
MS 60 19.05 1257 11.91 596! 12.75| 1455 | - - 181 | 24| - 402(4100) | 628(640) MS2060 | 3810 | 1257 | 11.91 | 2223 | 594 | 1455 | 16.1 - - 181 | 32 - | 40.2(4100)| 6.28(640)
MS 80 2540 15.75 15.88 794 1623 1982 - claan | 32| - 68.6(7000) | 10.7(1090) MS2080 | 50.80 | 1575 | 1588 | 2858 | 7.92 | 1825 | 2185 | - - 230 | 40 | - | 68.6(7000) 10.7(1090)
MS 100 3175 18.90 19.05 954|198 | 236 | - - 1301 a0 | - 108(11000) | 17.1(1740) MS2100 | 6350 | 1890 | 19.05 | 39.69 | 953 | 21.75 | 2555 | - - 301 | 48 | - | 108(1100) 17.1(1740)
MS 40-2 12.70 7.85 7.92 397 - - 154 | 1645 120 | 15 | 144 | 33.4(3400) |  4.5(460) MS 2040-2 | 2540 | 7.85 | 7.94 | 1588 | 396 | - - 1553 | 17.07 | 120 | 15 | 144 | 33.4(3400) 4.5(460)
MS 50-2 15.875 9.40 1016 500| - - 11935 209 | 150 | 20 | 181 5556000 | 7.35(750) MS 2050-2 | 31.75 | 9.40 | 10.16 | 19.05 | 508 | - - 1948 | 2092 | 150 | 20 | 181 | 55(5600) 7.35(750)
MS 60-2 19.05 1257 11.91 506| - 2415|2595 181 | 24 | 228 | 804(8200) | 10.7(1090) MS 2060-2 | 3810 | 1257 | 11.91 | 2223 | 594 | - - 276 | 2915 | 172 | 32 | 262 | 80.4(8200)|10.7(1090)
MS 80-2 2540 15.75 15.88 704| - 13009 345 241 | 32 | 293 | 137.2(14000) | 18.1(1850) MS 2080-2 | 50.80 | 15.75 | 1588 | 2858 | 7.92 | - - 3455 | 3815 | 230 | 40 | 32.6 137.2(14000) 18.1(1850)
MS 100-2 31.75 18.90 19.05 954 | - - 377 | 415 | 301 40 | 358 216(22000) 29(2960) MS 2100-2 | 63.50 | 1890 | 19.05 | 39.69 9.53 - - 41.3 45.1 28.6 438 39.1 | 216(22000)| 29(2960)

o| I: F
Homs HoIHE (ko/m)

15.88 12.7 17.45 17.40 13.2 3.97 13 MS 2040 1.69
19.05 15.9 12.7 22.25 23.05 12.7 16.2 = 5.09 19 MS 2050 19.05 19.0 26.5 10.50 11.95 - - 246 238 5.96 2.04 2.50
22.23 18.3 15.9 26.25 26.85 15.9 20.6 - 5.96 2.9 MS 2060 22.23 23.0 31.8 14.7 17.7 - - 30.6 28,6 7.94 3.68 4.36
28.58 246 19.1 34.15 35.45 19.1 25.7 = 7.94 4.8 MS 2080 28.58 29.0 40.5 18.5 224 - - 40.5 38.1 9.53 5.65 6.76
39.69 31.8 25.4 445 44.00 25.4 31.0 - 9.54 7.9 MS 2100 39.69 354 49.7 22.2 27.0 - - 50.4 47.6 14.29 9.11 11.37
15.88 12.7 9.5 17.45 17.40 9.5 = 283 3.97 2.6 MS 2040-2 15.88 15.0 21.0 - - 15.58 17.12 19.8 19.1 5.09 2.66 3.38
19.05 15.9 12.7 22.25 23.05 12.7 - 343 5.09 3.8 MS 2050-2 19.05 19.0 26.5 - - 19.53 20.97 246 238 5.96 4.08 5.0

2223 18.3 15.9 26.25 26.85 15.9 = 434 5.96 5.8 MS 2060-2 22.23 23.0 31.8 - - 27.8 30.8 30.6 28.0 7.94 7.36 8.72
28.58 24.6 19.1 34.15 35.45 19.1 - 55.0 7.94 9.6 MS 2080-2 28.58 29.0 40.5 - - 34.8 38.7 40.5 38.1 1mn 1.3 13.52
39.69 31.8 254 44.5 44.00 254 = 66.9 9.54 15.8 MS 2100-2 39.69 354 49.7 - - 41.75 46.55 50.4 47.6 14.29 18.22 22.74




+ H|Ql & AZ2}F  Chain & Sprocket 38 MUSSO POWER SYSTEM 39

MS BS/DIN 2=21 x|©l (BS/DIN roller chain)

L3

i
:

L3

L4 |

=

[

T
T

) L
L2 ‘ L1
t 4%4

|
[
T
1
4+4

Lj

L4

—
444?;4 1T 11
-

L

L2

—]
ol
1]
|

SINGLE STRAND DOUBLE STRAND

2209F | HAUE Z0IE

. Trans
Roller | Width Link Pin Pitch

Dia ;
) d E Kgf Kgf | Kg/m
MSO06B | 9525 | 635 | 572 | 82 |132 [1.05 | 328 (134 | 72| 62 | 76 | 66 | - 910 | 1,000 | 041 MS06B-2 | 9525 | 635 | 572 | 82 |132 |1.05 | 328 237 1235 11.35 1275 |11.75 1024 | 1730 | 1900 | 078
MS08B-2 | 1270 | 851 | 7.75 | 118 |162 |162 | 445 323 |1685 1545 175 |155 | 1392 | 3180 | 3700 | 135
MS10B-2 | 15875 | 1016 | 965 |147 |162 |162 | 508 37.9 1995 17.95 | 200 |180 | 1659 | 4540 = 5200 | 1.8
MS12B-2 | 1905 | 1207 | 1168 |161 | 188 188 | 572 438 22852095 2335 21.05 | 1946 | 5900 | 680 | 25
MS12B 1905 | 1207 | 11.68 |161 |1.88 [1.88 | 572 (243 131|112 136 |13 | - 2950 | 3400 @ 125 MS16B-2 | 2540 | 1588 | 17.02 |21.08 |410 |32 | 828 700 |360 340 (377 |361 |31.88 | 8620 | 15000 & 54
MS20B-2 | 3175 | 1905 | 1956 |260 |44 |35 | 1019 809 |41.95 384 (434 |406 | 3645 | 13160 | 23,000 | 72
MS24B-2 | 3810 | 2540 | 2540 (334 |59 |49 | 1463 1072 |563 | 5095 565 | 5385 | 4836 | 19,960 | 39,400 | 135
MS28B-2 | 4445 | 27.94 | 3099 (367 |74 |63 | 1590 129.8 |67.45 6225 68.75 |66.1 | 5956 | 26320 | 46200 | 166
MS24B 3810 | 2540 | 2540 |334 |59 |49 1463 5875 320 | 2675 3245|307 | - 9,980 | 19700 & 67 MS32B-2 | 5080 | 2921 | 3099 (419 |69 |63 |17.81 1297 |67.0 61.8 | 6855 | 650 | 5855 | 34480 | 60200 | 21.0
MS40B-2 | 6350 | 3937 | 3810 |529 |85 |80 | 2289 1596 |82.15 77.45 827 |794 | 7229 | 53540 | 82000 | 320

22093 | HAWE S0IE

ISO-B | Average

ISO-B | Average
Roller | Width Link ; : Avere?ge Tensile
Dia i Tensile | strength

Average
Weight

Average

Average | Tensile Weight

Tensile | strength

D Kof Kgf Kg/m

Ms 08B 12.70 8.51 775 |11.8 |1.62 (162 | 445 183 | 98 | 85 |106 | 85 = 1,820 2,100 0.7

MS 10B 15.875 | 10.16 965 (147 |17 |17 5.08 (212 (116 | 96 (117 9.7 - 2,270 2,600 0.95

Ms 16B 2540 | 1588 | 17.02 |21.08 410 |3.2 | 828 |382 202|180 |21.7 |20.2 - 4,310 7,500 2.7

MS 20B 3175 | 19.05 | 1956 [26.0 |44 |35 [10.19 |43.85 23.7 | 20.15 |25.15 | 23.00 = 6,580 | 11,500 3.6

MS28B | 4445 | 2794 | 3099 367 |74 |63 |1590 |7045 |37.7 |3275/391 (363 | - | 13160 | 23100 | 83
MS32B | 50.80 | 2921 | 3099 419 |69 |63 |17.81 |71.10 |37.7 |3340 395 366 | - | 17240 | 30,100 | 105 1. Shape of link plate for 068 is straight.

2. Spring clip type is standard for the connecting link of 06B through 16B and cotter type for 20B through 40B.
MS40B | 6350 | 3937 | 3810 |529 |85 |80 2289 |873 (460 413 465 432 | - | 26770 | 41,000 | 16.0 3. Middle link plate of 068 is one piece.

Note: Dimensions subject to change. Certified dimensions furnished upon request.




+ ®|el & A=}l Chain & Sprocket 40 MUSSO POWER SYSTEM 41

MS AHIYA 222 H|C] (Stainless steel short pitch precision roller chain)

233 LH= Zz0|E 2283 LH= E S0lE | Eu|x|

Width ) . i i Width Ultimate
Roller Pin Plate . Roller Plate Transverse )

i between i thickness tensile . i ) between h thickness itch tensile
lameter | . plates iameter strength diameter inner plates d|ameter Iengt p strength
d1 b1 dz L Lc hz T Q in No. di b1 d2 h2 T - Q

min min max min max max max max max min

MS 25SS 6.350 3.30 3.10 2.31 7.90 8.40 6.00 0.75 0.15 MS 25SS-2 6.350 3.30 3.10 2.31 145 15.0 6.00 0.75 6.40 35 0.28
MS 35SS 9.525 5.08 4,68 3.58 12.40 13.17 9.00 1.20 5.5 0.33 MS 35S5S-2 9.525 5.08 4.68 3.58 225 233 9.00 1.20 10.13 7.9 0.63
MS 41SS 12.700 7.77 6.25 3.58 13.75 15.00 9.91 1.20 6 0.41 MS 41SS-2 12.700 1.77 6.25 3.58 25.7 26.9 9.91 1.20 11.95 6.67 0.81
MS 40SS 12.700 7.92 7.85 3.96 16.60 17.80 12.00 1.50 9.6 0.62 MS 40SS-2 12.700 7.92 7.85 3.96 31.0 322 12.00 1.50 1438 141 1.12
MS 50SS 15.875 10.16 9.40 5.08 20.70 22.20 15.09 2.00 15.2 1.02 MS 50SS-2 15.875 10.16 9.40 5.08 38.9 40.4 15.09 2.00 18.11 22.20 2.00
MS 60SS 19.050 11.91 12.57 5.94 25.90 27.70 18.00 2.40 21.7 1.50 MS 60SS-2 19.050 11.91 12.57 5.94 48.8 50.5 18.00 2.40 22.78 31.80 2.92
MS 80SS 25.400 15.88 15.75 7.92 32.70 35.00 24.00 3.00 38.9 2.60 MS 80SS-2 25.400 15.88 15.75 7.92 62.7 64.3 24.00 3.00 29.29 56.70 5.15
MS 100SS 31.750 19.05 18.90 9.53 40.40 44.70 30.00 4.00 60 3.91 MS 100SS-2 | 31.750 19.05 18.90 9.53 76.4 80.5 30.00 4.00 35.76 88.50 7.80
MS 120SS 38.100 22.23 25.22 11.10 50.30 54.30 35.70 4.80 88.9 5.62 MS 120SS-2 | 38.100 22.23 25.22 11.10 95.8 99.7 35.70 4.80 45.44 127.00 11.70
MS 140SS 44.450 25.40 25.22 12.71 54.40 59.00 41.00 5.60 103.44 7.50 MS 140SS-2 | 44.450 25.40 25.22 12.71 103.3 107.9 41.00 5.60 48.87 172.40 15.14
MS 160SS 50.800 28.58 31.55 14.27 64.80 69.60 47.80 6.40 136.08 10.10 MS 160SS-2 50.800 28.58 31.55 14.27 123.3 128.1 47.80 6.40 58.55 226.80 20.14
MS 180SS 57.150 35.71 35.48 17.46 72.80 78.60 53.60 7.20 168.12 13.45 MS 180SS-2 | 57.150 35.71 35.48 17.46 138.6 144.4 53.60 7.20 65.84 280.25 29.22
MS 200SS 63.500 39.68 37.85 19.85 80.30 87.20 60.00 8.00 212.28 16.15 MS 200SS-2 | 63.500 39.68 37.85 19.85 151.9 158.8 60.00 8.00 71.55 353.80 32.24
MS 240SS 76.200 47.63 47.35 23.81 95.50 103.00 72.39 9.50 306.18 23.20 MS 240SS-2 | 76.200 47.63 47.35 23.81 183.4 190.8 72.39 9.50 87.83 510.30 45.23




+ ®|2l & AmE}3ll Chain & Sprocket 42 MUSSO POWER SYSTEM 43

MS TWItsd X|9l (Straight side plates roller chain) MS =552 2221 A|Q! (Heavy series roller chain)

e
= Lo t
T VTV Ul Ly L
T TT T T
Ly L
w D 49'
Lz C [ = 10 - T P
™  — \—LJ—I ju—— ju—— 3
d or, et | I L
- | L. : | ©
] cl | i |
il T+ |
=3 eo)0) I T
MS 60H 495(5050)|  9.8(1000) 1.7
- - MS60H-2 | o 0c | 1557 | 1191 | 594 273 28.8 561 | 588 | o, 175 sgq | SON0I00) 1670700  3.53
1 %] 228 | 229 o = 2 0| 213=a0|e MS 60H-3 4035 | 4185 | 822 | 849 1485(15150) | 24512500  5.27
—_ [ o
o 3 | 23U MS 60H-4 53.4 549 | 1083 | 111.0 19820200 323(3300) 7.01
p Dr w d MS 80H 177 | 208 | 385 | 402 8048200)| 16201650  2.96
MS 80H-2 34.0 37.1 711 | 728 160.8(16400)| 27.8(2840)  5.84
2540 | 15.75 | 15.88 | 7.92 4.0 23.0 326
MS 40 FP 12.70 7.92 7.85 3.9 8.10 9.20 12.0 15 16.7(1,700) 0.77 P e | s | e | w2m00| 873
MS 50 FP 15.875 10.16 9.40 5.08 10.10 11.70 15.0 2.0 27.5(2,800) 1.20 MS 80H-4 66.6 69.7 1363 | 138.0 321.6(32800)|  52.9(5400)| 11.32
MS 60 FP 19.05 11.91 12.57 5.94 12.60 14.40 18.1 2.4 40.2(4,100) 1.60 MS 100H 21.72 | 2468 | 464 | 476 1216(12400) | 24702520)  4.17
MS 80 FP 25.40 15.88 15.75 7.92 16.25 19.25 24.1 32 68.6(7,000) 2.74 MST00H-2| 3 75 | 1890 | 1905 | 953 | 4127 | 4423 &5 1 867 | 44 289 39,1 |LB2E0) 421(50) 823
MS 100H-3 60.82 | 63.78 | 1246 | 1258 3648037200)|  618(6300) 12.30
MS 100 FP 31.75 19.05 18.90 9.53 19.80 22.90 30.1 40 108(11,000) 4.08 MS 100H-4 2037 | 333 | 1637 | 1650 6oy 804800 16.38
MS 120 FP 38.10 22.23 25.22 11.10 24.80 28.2 36.0 4.8 151(15,400) 5.98 MS 120H 26.852 | 30.20 57.1 58.9 165.7(16900) | 32.8(3350)  6.28
MS 140 FP 44.45 25.40 25.22 127 25.60 31.35 42.0 5.6 204(20,800) 7.70 MS120H-2 | 2010 | 2522 | 2223 | 1110 | 213 547 | 1060 | 1078 | 35.0 4gg |331463800) 543G600) 12.45
MS 160 FP | 50.80 2858 31.55 14.27 3160 | 37.10 480 6.4 258(26,300) | 1023 b L T 497.2050700)| - 81.48300)  18.61
MS 120H-4 1002 | 103.6 | 203.8 | 206.0 663(67600) | 106.9(10900), 24.78
MS 180 FP 57.15 35.71 35.48 17.46 35.9 M7 54.2 7.2 331.5(33,800) | 13.50 MS 140H 2895 | 3295 | 619 | 638 30| Bl 7.83
MS 200 FP 63.5 39.68 37.85 19.85 39.05 46.65 60.3 8.0 426.6(43,500 17.33 X
(: ) MS140H-2 |,/ 0c | 5597 | 2540 | 1291 | 5505 | 5905 | 1141 | 1160 |, 107 5y |WTSU600| 7330480) 15.50
MS 240 FP 76.2 47.63 47.35 23.81 47.2 54.8 72.4 9.5 637.4(65,000) | 25.60 MS 140H-3 81.15 | 8515 | 1663 | 168.2 641.3(65400) | 107.8(11000)|  23.17
MS320FP | 1016 63.5 6365 | 3175 638 776 920 12.7 1078.7(110,000) | 476 MS 140H-4 1072|1112 | 2185 | 2205 855.1(87200) | 1422014500 30.84
MS 400 FP | 127.0 79.38 67.93 39.68 79.65 92.65 120.0 16.0 1814.2(185,000) | 83.9 MS 160H 342 389 B 736 L) | SR G
MS160H-2 | o0 | 3165 | 9858 | 1427 | 6515 | 6985 | 1350 | 1375 | .o | .o 61o |F0I6T0| %5807T0) 21.7
MS 160H-3 9.1 | 100.8 | 1969 | 199.4 841.4(85800) | 141.2(14400)| 32.4
MS 160H-4 127.05 | 131.75 | 258.8 | 261.3 11219(114400) | 184.3(18800)| 43.1
MS 200H 4285 | 4985 | 927 | 955 451.1(46000)|  79.18070) 19.2
MS200H-2 | ooci | 3795 | 3068 | 1085 | 820 890 | 1710 | 1738 | 4. 584 Jg3 |%22002000 | 134313700) 38.0
MS 200H-3 12115 | 128.15 | 2493 | 252.1 13533(138000) 197.120100)| 56.8
MS 200H-4 1603 | 1673 | 327.6 | 3304 18044(184000)| 258.9(26400)|  75.6




+ #Ql & AZ2}3 Chain & Sprocket a4 MUSSO POWER SYSTEM 45

MS =2 2—Il H|9l (Hollow-pin chain) MS 7{E. X|Q] (Side bow chain)

D
R o == ,H:t:‘—:%f_I
-
Appeys || Epmp gy
L T 71 1 N
= T =
Dr  do P | P

ECACEOICED =)

| | |
[

229 S X Radius 229 =‘F_1|0|E Plate Il Pin
23L= - HIXIE 4 | 33u=E =il
o.
W r W
MS 40 HP 12.70 7.85 7.92 . .0 .6 3.96 8.30 9.40 1,100 0.54 MS 40SB 12.70 320 7.92 7.85 . .0 A . 10.00 920 0.65
MS 50 HP 15.875 9.40 10.16 2.0 15.1 7.03 5.13 10.25 11.55 2,000 0.87 MS 50SB 15.875 410 10.14 9.40 2.0 15.0 4.37 10.45 12.35 1,530 1.08
MS 60 HP 19.05 12.57 11.91 2.4 18.0 8.33 6.00 12.90 13.90 2,450 1.29 MS 60SB 19.05 510 11.91 12.57 2.4 18.0 5.08 13.35 15.25 2,240 1.55

MS 80 HP 25.40 15.75 15.88 3.2 24.0 11.40 8.05 16.25 17.55 4,900 2.26 MS 80SB 25.40 720 15.88 15.75 3.2 241 7.19 17.05 18.85 3,980 2.40




MUSSO POWER SYSTEM 47

+ QI & A=}zl Chain & Sprocket 26

MS Hi== X|Q! (Double plus chain)

HEARIE 2 2229 22 222(7t0] DA et £ 2227t Yot SMEH 228 2Z2 Higo| et BEE &

- s Do o e o HZ=2 H{=X|QI (standard Double plus Chain)
= HMQI&E=0l 25H1= OlSELC) Eot BHEE0 MES=0| A8 Mols 2 222 A2 2227101 D|TEO0| L=HA A|

Q12 XREA OlSELUC,,

Ring Type
"
e =
e s
Small Roller Big Roller o —ll= 4L
ot wss 7 lel| 2
- éf:'er Carriage Load R1
Chain _r ] ~ RN |
t = D- € = T
e = = J]
C \ Pt RS ST S
2
Rail [yl e [7 1]
Y
Rail
Flange Type
_ H -~ N
sl T 11
[ 1r 1l =
o oIl I I | =
e ‘ ﬂ o
R1
Advantages of Double Plus Chain AF24Ho| AbA e sbey (& 7 }
~= = = \J
c DABEE MAS P P
- SNE oY
< A7 & HEo] 80| ME LR0lE oY ¥ AZel 50| BEESH E0]
Zidojof &A H XZfo| 0| gt
(Er9):mm)
Variations MIStAIS 223 o Z30|E Plate Bl Pin
- |
< AlE HHEEY
2040VRP / 2040VR 25.40 15.88 24.60 10.3 5.7 2.0 1.5 12.0 3.96 15.8 17.2
2050VRP / 2050VR 31.75 19.05 30.60 13.0 7.1 24 2.0 15.0 5.08 19.75 21.75
Designation of Double Plus Chain S3!
2060VRP / 2060VR 38.10 22.23 36.00 15.0 8.5 4.0 3.2 18.0 5.94 25.1 27.8
2080VRP / 2080VR 50.80 28.58 48.00 20.0 14.7 4.0 4.0 23.0 7.92 35.8 38.2
) 2040, 2050 B4 12 Ring Type 22 A2l 2060 ©]4=2 Flange Type o2 A2,
HRlHS 7Hd 22
(CPC: MIE7{H] 23, SC: A7t A3
&SRRl o— o Y 222 HIRIEH)
(VRP: Z2tAE| 22213 VR AT 222(3) (CRP: ZAE] 2238 CR AL 2223




+ ®|2l & AmE}3ll Chain & Sprocket 48 MUSSO POWER SYSTEM 49

O - . = = -
‘ MIE] 222 X|2QI (Center Roller Chain) ‘ ME 7 5=k x|l (chain with Center Cover)
VR-CPC Type
-
s o | ' S
- : o ' i = 5 I | ot F sl
{ J J s 3 | , S
~| 2ol N - a | R
Cis o 2 R1
IR1 N
e\ AV ) AV \ AV \ AV =
Qf’ ] /l\ ] /l\ ] /)’\ I) AN :[
S o — S—— e | e
{‘i@ 9K %)) T
j 7/
2 = CR-CPC Type
=
5| T g
1T |
5 5 4 |7§,§
m ARl &Hreof o] FE] H7h 110 S&oln] F Z&e AQlel vl FA FAlo] Hob o]FES AH AR 58 4 FUTt A
Vo RPN\ T/ ) DA TAPNY
Qf ] 7N \T ) NN \T 2\ E[
P ‘ P

(Et2]:mm)

re

Pin

(E+2]:mm)

“----- “-------

2040CRP/2040CR | 2540 | 1588 | 2460 | 103 5.7 20 15 12,0 3.96 15.8 17.2 2060 VR.CPC
3810 | 2223 | 3600 | 153 83 40 32 180 5.94 25.1 2738

2050CRP/2050CR | 31.75 | 19.05 | 30.60 13.0 7.1 24 2.0 15.0 5.08 1975 | 21.75 2060 CR-CPC

2060CRP/2060CR | 3810 | 2223 | 3600 | 150 8.5 40 32 18.0 5.94 25.1 278 2080 VR.CPC
5080 | 2858 | 4800 | 20.0 147 40 40 23.0 7.92 3538 382

2080CRP/2080CR | 50.80 | 2858 | 4800 | 20.0 147 4.0 40 23.0 7.92 358 382 2080 CR-CPC




+ x|l & Az} Chain & Sprocket 50 + x|l & AZa}3l Chain & Sprocket 51

MS 2| X9 (Leaf chain)

O|EQt ol Hloz FY5(0f Jen, Foidt Qg fRAH4E X2 o+ AU=SE R0 AL

2| A2 =2
IR AIYR| 2|ZES, X|AXE 7|Et X&o| 2|2E8E T[AIFR0| AZE AT

( A HH B2k i (chain with Snap Cover) $_%£§E%ﬂ

ISE|
S

Special design features

o nEydE 704 X0 BH X < d2Est OXl
VRSC Type &2 D24 2 2% -0 2H /X 2245t Cixf

w2

L s
]

| = ;
EEEeEE

}fﬁ

e

w1

w2

W2

LINK PLATEE E4 MZQ| |22 0/85t7| &0
ot st 2l MENS MSFLICH

w1
44#

w2

S — =2 mi 220l 20| X4 WS 5
(e BN AR #/BENR N A = A élﬁilzﬁ;EsLﬁiogxr—} Do o B o B
b b e NI 28NS AsAzisU

rrl

2060 VR-SC
3810 | 2223 | 3600 | 153 83 40 32 18.0 504 | 251 278
2060 CR-SC
(1) Leaf chain2 ¥zst & 7|&0f et MAZ7(off of MQle| SX0| otF 4-giLiCt
(2) PLATE®} PINO| RIXHZ 0! CHEH 87tK| EH=0] =Q35t slatA 2AS Xidhsta Ql&LcH —Rerold XL - Rencld RL —— ERA} 2} B
whHa = 5%
2080 VR-SC D= PN HOl2 E5f QTEHS 1o 0|5} AHS CIAISIoIAL | o
5080 | 2858 | 4800 | 20.0 14.7 40 40 230 7.92 3538 382 (9 =€ PINE A0S Sl 2_RTS 7HSeIA20 Dtz St 23S AYSIASU. m >
2080 CR-SC (4) RE PLATES Al Al Z2|A7|HZ AlRECZM PLATE HOLE 2to| 72l(Pitch)e] 2Ux|4 e 7
I} PLATE HOLES| 22 B&8 4 QL) ST T 1 11 I/
. YA
(5) RE PLATEES AEX2IZ =5 24 /

LEE L Frrisy

PLATEMC| Z& BURRS MHsIR&LICY, |
(6) 2E Fxfzl MUl F1 A4 AHIE ABSIT Ao, ZEE 712 AIAHS Sol0f AL} sl | ?/ EE

= TR0 CiEt ZAE Maetn YUt - .
7) RS2 A= HQIXR 452 2R SIIAZ|1 AU&LCh e A I
(8) Leaf chain®l Ot2 YZE Motz S48t A9 7I4E ALE5t0 of AMI2lo| 58 stES b

AlEE ot ofLjz} Dl Els e ©3t AlREL




MUSSO POWER SYSTEM

52

MS 2| ZZx{|9] (Leaf chain)

BL644
BL646
BL666
BL688
BL822
BL823
BL834
BL844
BL846
BL866
BL888
BL1022
BL1023
BL1034
BL1044
BL1046
BL1066
BL1088
BL1222
BL1223
BL1234
BL1244
BL1246
BL1266
BL1288
BL1422
BL1423
BL1434
BL1444
BL1446
BL1466
BL1488
BL1622
BL1623
BL1634
BL1644
BL1646
BL1666
BL1688

+ H|Ql & Azt Chain & Sprocket

53

MS 2| X9 (Leaf chain)

AL422
AL444
AL466
AL522
AL544
AL566
AL622
AL644
AL666
AL822
AL844
AL866
AL1022
AL1044
AL1066
AL1222
AL1244
AL1266
AL1444
AL1466
AL1644
AL1666
LL0822
LL0844
LL0O866
LL1022
LL1044
LL1066
LL1222
LL1244
LL1266
LL1622
LL1644
LL1666
LL2022
LL2044
LL2066
LL2422
LL2444
LL2466
LL2822
LL2844
LL2866
LL3222
LL3244
LL3266

- [o

H|
: e
L L
T _ZAY FAY F/ -
! ! ! p p ! !

S0IE
=

2X2 4x4

6X6




MUSSO POWER SYSTEM

MS 400 S2fA

in)

=

I

M-

e
i

N

X|2! (Class pintle chain)

41.40
38.25
41.40
41.50
58.62
66.27
78.11
103.20

1.630
1.506
1.630
1.634
2.308
2.609
3.075
4.063

Z|CHALE

s 3

370
440
480
680
635
1,020
2,000
2,070

15.9
17.5
15.9
18.3
20.6
222
31.0
43.7

19.1
214
214
238
254
29.0
38.1
44.5

MUSSO POWER SYSTEM

55

MS 700 22tA TI= A|Q! (Class pintle chain)

700 S2AALE FH©!

p

F-3, F-226,
F-228 O{E{X|HE

17,000

455 15.9
477 19.1
488 30.2
4103 50.8 |31.8

46.0 | 135
66.7 | 22.2
73.0 | 22.3
76.2 | 28.2

7.9 | 20.6
143 | 38.1
15.1 | 38.1
16.7 | 484

730 19,000 38.1
F-3 OfEARITIE (&2
G X =z
Chain No. (kg/m)
720 60.0 76.0 19.1 12.7 138.0 100.0 60.0 140.0 15.7
7205 60.0 76.0 19.8 12.7 125.0 95.0 64.0 139.0 16.0
730 60.0 76.0 222 12.7 130.0 95.0 64.0 152.0 20.0
F-226 O{EfX|HE (E42]:mm)

720 60.0 76.0 19.1 12.7 130.0 95.0 67.0 152.0 16.7
7205 60.0 76.0 19.8 12.7 130.0 95.0 67.0 152.0 17.1
730 60.0 76.0 222 12.7 130.0 95.0 67.0 152.0 205
F-228 O{EfX|HE (S42]:mm)
Aeieis 52
720 60.0 76.0 19.1 12.7 127.0 95.0 114.0 197.0 19.4
7205 60.0 76.0 19.8 12.7 127.0 95.0 114.0 203.0 20.1
730 60.0 76.0 222 12.7 127.0 95.0 114.0 203.0 23.1




+ #|ol & AZE}3ll Chain & Sprocket 56 MUSSO POWER SYSTEM 57

MS E=2| X|2! (Trolley Chain) MS E=2| A|Q! (trolley Chain)

== @
P =0
I = - [ ] m 70 ©
K/CD & @

348 TROLLEY 458 TROLLEY 678 TROLLEY

MSC-348 102 84 64 60 100 47.8 40
MSC-458 138 113 83 82 130 54 54
MSC-678 142 106 875 82 134.5 54 86

HEHE(A) EE-[ES E2CHt
——Lt—

| =1y ’_L B | %@_l e e — i

< < - =
14 ] (A () - e

o S ; Tl P P HHH
€ El E3 N B P el Hay

Ell G 1/ i \Y/ AL S

K

518355 U A=kl MEE - FH|A X[5=(mm)
Permission Load And Dead Load Pendant - Crevis Dimension
HHE(A) 515 HHE(B) 5t 3YH|A 5tE
Pendant A Pendant B Crevis
Load Load Load
MSC-348 60 125 125 250 62 72 20 38 13
YEnZE S MSC-458 140 250 250 500 68 78 25 50 17
(kgf) (kg/m) MSC-678 300 800 800 1600 82 97 30 75 21
MSC-348 76.6 20.6 27.0 18.8 13.2 12.7 46.0 11,000 32 M E - J3H|A X|4(mm)Pendant - Crevis Dimension Z2EH} X[£(mm)Rod-Bar Dimension
MSC-458 102.4 26.5 36.0 25.4 16.0 16.0 57.0 21,000 5.2
MSC-348 6.3 125 12 13 3.2 29 152.4 117 25.0 152.4 17 304.8
MSC-678 153.2 342 610 320 210 220 770 32,000 95 MSC-458 9.0 16.5 16 17 45 34 203.2 128 25.0 203.2 21 406.4

MSC-678 12.7 25.5 25 25 6.3 39 304.8 167 325 | 304.8 31 609.6




+ QI & A=}zl Chain & Sprocket

58

Product Display

Tobacco Industry Chain

Agricultural Roller Chain 1

Stainless Steel Roller Chain

Engineering Machine Chain

Mining & Metallurgy Chain 2

Mining & Metallurgy Chain 1

Coal Industry Chain

S

Cold Drink and Food Industry Chain

27

Lumber Conveyor Chain

MUSSO POWER SYSTEM 59

Product Display

Automotive Production Line Chain

Asphalt Mixing and Road Palm Qil Industry Chain
Laying Industry Chain

Oil Field Chain Beer Industry Chain Conveyor Roller




+ QI & A=}zl Chain & Sprocket 60
MS B33 222 #|Q] FZF AHA
ro = TIH 20
A %
. -~

222| Helo| SoE2 Tat SARIS 0f20f ofsiA LojeLct [

FRE I 20| A BRI FUS Y0 I HES A4sio= 0l H +BS U % %

Al BIUCH RERE 14 2 Aol 42 Suiet A2 YA B AUD E FH0H ahA ]

= AEUYS UL, FBR SFE BT 20| B BAS AR 7 m&%

(3
) 222 Helo| FRol= 2 YHO| 2US ARZofRt BiLICt 2) B9 2214 52 Hestal L
3 QUAE Al HEE Aelol 7, Alszet 29| 20 oEFLCL  4) FHste 2U2 off HIS HESAIR
E1

-1oc oc | oc ~50C | 40 ~50c | 50%C ~ 60°C

MS 50 0|5t SAE 10 SAE 20 SAE 30 SAE 40
SAE 10 SAE 20 SAE 30 SAE40
MS 60, 80
————— SAE20 SAE 30 SAE 40
MS 100 SAE 50
SAE 20 SAE 30 SAE 40 SAE 50
MS 120 0|4 SAE 30 SAE 40 SAE 50

MUSSO POWER SYSTEM 61

Helel OI%’(Q Lo 2A| A0] & 222 39| SMol 2

et A0IAS MM 29 S0IM EUXlz 2YS HalsH

20| FHE[X| b= 7HIE 0184l H|Qlo| REL2=2 XLt

QU0| FHHX| Y= 7IHIE 0188 2THE 20|u AAe
2 Ao 2Us Hels ¢Y o] 39 Iune F42
200m/min0] &2 siFAIR, H|Q19] Z0] 125mm 0]+
= S LE0 20 FAR.

20| =H&X| ¢b= IS 0l&e HZ

=
=
&8 42 Helo| n2Y U SRTE ntIlE XL

C

=
ER-

H|elol lo| 71x5Hx| e Hez HyIHes
(Yekxo=z 8AIZIIC) SRl FAIR.

=2

ot0f 127H0f 5~208E FEO|

421 1ol| o

\; =
FYS 2Rl FAR. E5 AT 2 U
Hotds ol of FAIR,

HOLA MRI7ERIQ| 20| h7t TcHE!
9%'01\ Ho| Lalioto HAE 227
20| h=6-12mm HEZ sl TAIL.

) [IJO“
0
E=3 I'\l'

FHO| MRl ZSHEECH HA h=12-25mm
=2 of FAIR,

(2 370l ouz]

Aoz DY60 DY80 DY120 DY160
(m/min) Olat DY100 DY140 ol4
500~800 10/m 15//m 2.0/m 251/m
800~1100  2.0l/m 25//m 30/m 35//m
1100~1400  30/m 35//m 40//m 45)/m

S| A8 7H°|X| o HOIS FIIMoR MR HaRIoz N FAS.
35 = A40| QAL 22 2aAdE LA A

[na

50| 20| 0] HX|2| B A= HMux| 2

B. Hix|et FF

1. S=H|9} FEAE

HRle] £EH|= BE 711 Y=ot MFsi 5] M4 0l 85io] 101 =Xl st

Ameiint Holo] FE A= 1200 040 ZLECh

St 2H2lE 2He) Amepie] O™0| YESHA| 4o FUCh 7HE HigAEt £742ls 8T Aol mix|el 30-50u HE7F M Tt
C

o MSS5IS0| 22 e 200 YEIF ML

ARl G| Al 2 4 UeH oRiZS 0\_§ SIO{oF &L
et 0I2ES S =g

29l E9= 2% =7t MERILch

) #2FE 22 30l 7R XY ER
2) SUARPE 1m 0|8 4=

3) &t B0IM XI5 715 E=

4) 0| A2 g=

R Al Q0| 25| BHOIT 2BOIVIS IG5 Halstot Amalg 3
F o ol

ARl Fs9| tixls & Ameplel S4E Hdst= Mol 8ol 77tz A0| 0

AR,

250] 7712 BRI HI0] ZFD SOLE AT BA7| 27| B
of XIS HNYRIS R0 ARSIEZ HABLICH

BAZIS Jks B 8 60" OlUE B 20| MYBLIC, (14 HE)

6. F2IE Qol= Hi

1) 91Z0] 0|AEY ZR0l= I 0[R2 M7 k| fsl Chs AttS 12isho

7L EHARIY ER0ls =2 0I5 + Us TEE S0

& mdo|e IA% ot Mg (g &x)

[a22]

L=1Mof| E9] 2= 0.5mm ©|3}

KO 7t
199 Z$- 0.7 olsk / 299 A9 0.4 olst

AIL
==X
Lt H712|Y ZR0ls 0lREE WE0IM St 0j0|5215 20f A= siFAIL,




63

MUSSO POWER SYSTEM

62

+ H|Ql & Amat3ll  Chain & Sprocket

HE & SUSH?I

a
A

o] o

SUS

G-type
=
0| E

00

ok

k{0

ol
- Ho
o il
- Mo
S
= 0F
ofu |
xd il
PO .
TR
oF g
Al ro
wl |
L 0i0
0lJ o
T W K
I 00 B

AEIIA

E!

bl

RE - M|

0l0

Ho
oK

OH

S-type

B-type

DB-type

VAT ATATAYAYAS

LY ATAY

NENINENININ]

75

HZot =

S 10~30cm2

f

oz= L

QlE2Z|0lE — MY, AU, 2f mEM

H-type

SS-type

S-type

oty
Hr

oK

of

al

%8 -

7

al

DB-type

w|
El

IS

=0
wr

O
.
T -
— mn
_
m
ol E_
Rr o
= .
g =
4
00 ro
o |
s
ST
o W K
M oo Bn

]
)
ol
ww|
Al
040
=)
E=
ml
K
)
o
XF
o
ol S0
Ul ﬂo
® oo
oF ov,
. oI
|
S
Hi nF
o+ )
g D
Kl ok
s B
110 kvl
4 o
< mE
ol <r
wx !
Ki Ro
WK
o3 00 =

- 7IARE 7kS, AN, SHE7 A

A28

REE - A, HIAU HEE, AE53Y

H-type

-type

B

5]
2
(@]
Lo
=)

S

o2 M TxA s—typeoi| H]

HHMOI type

— =
E= ;135é§ =05

|
=il
=

ez AZELLC

AlO
=2

d =IMem 371 0

== o

ot
=

12 QIoIEAR! HZEE UEUCE

410
[

R W 7l

ol

=
o=

iz

71Ag, 7el,
LEE - IUA HEE, MBI, UEE HETIAS

L= A—
(=]

B

ujo

QIE2]0f




+ QI & A=}zl Chain & Sprocket 64

SUS ZIHI| H|¢HIE & SUSH|Q!
( ZiHIo] HHHEE

MUSSO POWER SYSTEM 65

SUS ZIHI| H|¢HIE & SUSH|[QI

(ZHIGEE mX| =% H Hi+xHZE

ZHOME mx| H=H

i\ &ﬁ ﬁ}tr

EAFATAYATA)

@ 2= F7| (9)

@ T M9 F7| (9)

® 2l=MEH 7t (m/m)
@ ol MIE| 2t (m/m)
©® HQH (=)

® =9l 7tA

@ =9 #7|

20| (m)

MESH BELTS {Z!

Plain Steel C1015 0.13~0.18 0.30 ~ 0.50 400°C
13Cr 410 11.50 ~ 13.50 <0.12 0.20 ~ 0.40 0.35~0.50 700°C
18 Cr 430 14.00 ~ 18.00 <0.12 <1.00 <1.00 700°C
18-8 304 18.00 ~ 20.00 8.00 ~ 11.00 <0.08 <2.00 <0.70 800°C
18-8 Mo 316 16.00 ~ 18.00 10.00 ~ 14.00 <0.08 <2.00 <0.75 900°C
25-20 310 24.00 ~ 26.00 19.00 ~ 22.00 <0.25 <2.00 <1.50 1050°C
25-20S 314 23.00 ~ 26.00 23.00 ~ 26.00 <0.25 <2.00 1.50 ~ 3.00 1100°C




MUSSO POWER SYSTEM 67

L

HETX <
Power
Transmission

Part




+ S2{MetArX| Power Transmission Part 68 MUSSO POWER SYSTEM 69

MS E23 2|0|E| (Torque Limiter)

TL200 ~ 350 TL500 ~ 700

4 ﬁ}% ' . TL10-16 ~ 24 Pt TL14-10 ~ 15
AN

CI e
‘ 5 ‘ @ 2| (Hub) @ Z K| (Pressure Plate) @ =& HE (Adjustment Nut) HE (Lock Washer)
@ 20l (Friction Facing) ® AxZ (D|sc Spring) ZX £E (Adjustment Bolt) @ Spring Plate
< @ HAl (Bushing) ©® Az QFAf (Pilot Plate) © THLEAL (Set Screw)

Ve x S
; Approx. =4 L T t A
Coupling No. V\rljgght ] (Max)
MS 4012 12.70 326 231 55 77 56 272 7.2 85.2 0.8 MSTL200-1 M24 0.3~1
8 14 . . ) - 36 45 30 - -

MS 4016 12.70 32.6 247 55 77 72 288 7.2 85.2 1.6 MSTL200-2 P1.0 0.7~2

MS 5014 15.875 40.8 249 62 84 79 295 9.4 99.4 2.0 MSTL250-1 M35 0.7~2.8
10 | 22 65 | 35 | 48 |16 4 32| 9 | 4 50 45 41 - M5

MS 5016 15.875 40.8 261 62 84 91 2109 9.4 99.4 2.8 MSTL250-2 P1.5 1.4~55

MS 5018 15.875 40.8 268 62 84 100 2116 9.4 100.4 36 MSTL350-1 M42 2.0~7.6
17 25 89 | 42 | 62 |19 4 32116 | 5 65 6 49 - M6

MS 6018 19.05 50.6 284 71 97 122 2138 1.1 123.1 6.5 MSTL350-2 P1.5 3.5~15.2

MS 6022 19.05 50.6 2110 71 97 146 2162 1.1 123.1 1.1 MSTL500-1 Me5 | M8 48~21.4
20 | 42 | 127 | 65 | 76 |22 6 32|16 | 6 - 85 74 P1.0 | M8

MS 8018 25.40 65.6 2109 97 123 165 2187 14.7 140.7 13.8 MSTL500-2 P15 | 3pcs 9.0~42.9

MS 8022 25.40 65.6 2138 97 123 198 2220 14.7 156.7 21.7 MSTL700-1 M95 | M10 11.8~58.1
30 | 64 | 178 | 95 | 98 |24 7 32129 | 65| - | 12 105 P1.25 | M10

MS 10020 31.75 785 2152 124 160 222 2258 183 178.8 326 MSTL700-2 P15 | 3pcs 22.8~111

MS 12018 38.10 99.2 2165 154 190 244 2280 215 202.7 46.1 MSTL10-16 M105 | M18 40~130
38 72 | 254 | 100 | 115 237 | 9 5 24 - 19 | 125 | 135 -

MS 12022 38.10 99.2 2203 163 207 290 2334 215 222.7 69.0 MSTL10-24 P15 | P15 60~190

MS 16018 50.8 1273 2219.5 157 2455 3385 2381 30.1 254.1 9.3 MSTL14-10 M150 | M26 90~272
50 | 100 | 355 | 146 | 155 |30 |146 | 5 29 - 27 | 20 183 -

MS 16022 50.8 127.3 2280 196 262 394.5 2440 30.1 310.1 166.8 MSTL14-15 P20 | P15 200~400

) golid Afolofl 71E5Fo0l7t $h& A5 AlA T ARSHA 7] why ek




+ =2 M=bxbx| Power Transmission Part 70 MUSSO POWER SYSTEM 71

MS EE232|0|E 7}=2! (Torque Limiter Coupling) MS =&l X| 7}=2! (Flange Coupling)

D.H
D.H

@D
@Ci
A

01 02 21 02

¥ Z:Drawn out length of bolt

TL350-C TL500-C, TL700-C

(E+21:mm)
A H0H 2} Size Weight GD
No. ' R | T | 2= A M el Al o e Fl | R T |z | af) | Gaf/m)
-
MSF90 20 | - | 9| 28 355 |60 14 48 |19 3 |50 137 | 000532
MSTL350-1C| 20~7.6 | 800 | 19 | 14 | 45 | 25 | 50247 | 137 | 72 | 105 | 40 | 6 | 97 | 47
MSF100 25 | - 100355 425 | 67| 16 410 | 23| 3 56| 20 | 000948
MSTL350-2C| 35-152 | 800 | 19 | 14 | 45 | 25 | 50247 | 137 | 72 | 105 | 40 | 6 | 97 | 47
MSF112 28 | 16112 40, 50 | 75| 16 410 | 23| 3 | 56| 264 | 00152
MSTL500-1C| 48-21.4 | 500 | 20 | 16 | 65 | 42 | 60-28T | 188 | 104 | 120 | 43 | 76 | 12 | 120
MSF125 32[28 | 18125 45 56|50 | 85| 18 414 |32 3 64| 359 | 00258
MSTL500-2C| 9.0-429 | 500 | 20 | 16 | 65 | 42 | 6028T | 188 | 104 | 120 | 43 | 76 | 12 | 120
MSF140 38 35| 20[140| 50| 71| 63 [100| 18 614 |32 3 |64 48 | 0042
MSTL700-1C| 118~581 | 400 | 26 | 20 | 90 | 64 | 80-28T | 251 | 150 | 170 | 68 | 98 | 15 | 301
MSF160 112 | 4000 | 45 | 25160 56/ 80 | 115 18 814 |32 3 64| 670 | 00741
MSTL700-2C | 228~1106 | 400 | 26 | 20 | 90 | 64 | 8028T | 251 | 150 | 170 | 68 | 98 | 15 | 301
MSF180 16 | 3500 | 50 | 28180 63| 90 | 132 18 814 |32 3 |64 | 898 | 0121
MSF200 25 | 3200 | 56 | 32/200 71| 100 (145 224 | 820 |41 | 4 |8 | 139 | 0241
MSF224 4 | 285 | 63 | 35224 8 112 |170| 224 | 820 |41 | 4 |8 | 181 | 038
MSF250 63 | 2550 | 71 | 40/250| 90 125 180 28 825 | 51| 4 (100 266 | 0.720
MSF280 100 | 2300 | 8 | 50 280 100| 140 200 28 |40 | 828 |57 | 4 116 374 | 129
MSF315 160 | 2050 | 90 | 63(315 112| 160 |236| 28 |40 | 1028 |57 | 4 |116| 503 | 212
MSF355 25 | 1,800 | 100 | 71|355|125 180 | 260 355 56 = 8355 |72 | 5 |150| 792 | 442
MSF400 40 | 1,600 | 110 | 80|400 125| 200 |300(355 56 | 10355 | 72 | 5 150 1000 | 7.10
MSF450 630 | 1400 125 | 90 450|140, 224 | 355355 56 | 12355 | 72| 5 150 1320 | 115
MSF560 | 1,000 | 1,150 | 140 | 100 560 160| 250 | 450(355| 56 | 14355 | 72 | 5 | 150 207.0 |27.3
MSF630 | 1600 | 1,000 | 160 | 110|630 180| 280 |530(355| 56 | 18355 | 72 | 5 |150 2710 |44




+ SAMELZEX| Power Transmission Part 72 MUSSO POWER SYSTEM 73

MS 2{H{ 7}=2! (Rubber Coupling)

b =g

L1 L2 L1

MS0511, MS0714

Dia

S/

MS1119~MS1938 MS2845~MS6511 L

MS55, MS65 (NJAFR)

% —
T == 1 ° — - - —T oo E
— - t —-—Tola
L 1] e | o
e [ = e
F T E LA N | e 3 L L1 L2 L3 L4
1 F T F ‘ (kg/m) Max.
. MSRF 100 22 36 66 26 14 10 40 54 2X6-M6
MSRF 135 30 48 90 35 20 14 53 70 2X6-M8
MSRF 180 35 64 120 46 28 20 70 95 2X6-M10
MSRF 210 50 76 143 54 35 27 93 110 2 X 8-M10
MSRF 265 60 95 178 67 44 32 105 140 2 X 8-M12
) ) MSRF 310 125 2,000 36 70 112 208 75 58 36 121 165 |2Xx8-M12
Bore Dia(mm) Basic Torsion Dimension(mm)
Torque
MS 0511 5 11 0.4 3.2° - 25 12 11 35 1 0.08
MS 0714 7 14 1 3.2° - 35 18.5 13 50 1.5 0.3
MS 1119 11 19 2.5 3.2° 42 48 24 17 65 1.5 0.5
MS 1424 14 24 3.4 3.2° 50 58 27 18 72 1.5 0.9
MS 1928 19 28 12 3.2° 58 68 35 20 920 1.5 13
MS 1938 19 38 32 3.2° 68 78 35 22 92 1.5 2.5
MS 2845 28 45 65 3.2° 88 98 385 29 106 4 44
MS 3860 38 60 90 3.2° 98 118 45 30 120 3 7.8
MS 4275 42 75 125 3.2° 115 135 46 33 125 3.5 10
MS 6510 65 100 293 3.2° 130 160 66 47 177 5 19.5
MS 6511A 65 110 520 3.2° 150 200 105 47 255 5 36
MS 6511 65 110 790 3.2° 180 230 110 55 270 6 39
MS 55 9 28 35 3.2° - 55 30 18 78 2 1.0
MS 65 11 38 10 3.2° - 65 35 20 90 2.5 1.6




+ =2 M=bRbx| Power Transmission Part 74 MUSSO POWER SYSTEM 75

MS C|A 3 7}=2! (Disk Coupling) MS I} = (Power Lock)

Basic Max Max. Dimension(mm)
torque radial load

(Kgf.m) (kg)
47,000 67.4 332 254 57.4 0.6
39,000 81.1 458 254 6.6 57.4 1.1
34,000 92.8 50.8 287 8.4 65.8 1.7
30,000 103.7 61.0 335 11.2 78.2 24
25,000 125.8 71.2 411 11.7 939 43

22,000 143 83.9 47.8 11.7 107.3 6.9 Locking S DIN912-12.9
MS 35 130 270 19,000 168 105.5 57.2 16.8 1312 115 ransimission O”ta“ ““-55““’- 0cking >crews UINIL2-12.
MS 40 210 380 16,000 194.1 1182 635 17.0 1440 16.4 Tightening Torque

MS 45 340 450 15,000 214.2 137.2 76.2 21.6 174.0 28.0 SIZE ) Ft Mt Size Ts
MS 50 500 610 13,000 246.2 156.4 88.9 23.9 201.7 37.0 mm mm KN Nm N/mm2 N/mm2 Nm
MS 19 x 47 19 26.8 260 220 8 M6 X 18
MS 20 x 47 20 47 26.8 268 210 8 M6 X% 18
MS 22 x 47 22 47 1 7 20 26 26.8 283 207 96 8 M6 X 18 16
_— = o . MS 24 x50 24 50 | 17 20 26 30.1 361 206 103 9 M6 X% 18 16
MS D'|£ 7 }E%I (MUﬂ: Coupllng) MS25x50 | 25 |« 50 | 17 | 20 | 26 | 30. 376 | 206 103 9 M6 18 16
MS 28 X 55 28 55 | 17 20 26 335 420 204 103 10 M6 X 18 16
MS 30X 55 30 55 | 17 20 26 335 450 190 103 10 M6 X 18 16
MS 32X 60 32 60 | 17 20 26 40.2 643 214 114 12 M6 X 18 16
MS 35X 60 35 60 | 17 20 26 40.2 703 196 114 12 M6 X 18 16
. MS 38 X 65 38 65 | 17 20 26 46.9 891 204 122 14 M6 X 18 16
__E : MS 40 X 65 40 65 17 20 26 46.9 938 200 122 14 M6 X 18 16
: MS 42 X 75 42 75 | 20 24 32 73.2 1537 228 125 12 M8 x 22 38
& & & MS 45 x 75 45 75 | 20 24 32 73.2 1647 208 125 12 M8 x 22 38
% / MS 48 X 80 48 80 | 20 24 32 73.2 1756 190 110 12 M8 x 22 38
5 MS 50 x 80 50 80 | 20 24 32 73.2 1830 189 115 12 M8 x 22 38
* | - = MS 55 X 85 55 85 | 20 24 32 85.4 2348 200 130 14 M8 x 22 38
MS 60 X 90 60 9 | 20 24 32 85.4 2560 180 122 14 M8 x 22 38
= @» @» @ MS 65 X 95 65 95 | 20 24 32 97.6 3170 191 130 16 M8 x 22 38
tEel : ‘ : MS70x110 | 70 | 110 | 24 28 38 134.4 4700 211 132 14 M10x 25 75
MS75x115 | 75 | 115 | 24 28 38 134.4 5000 194 128 14 M10 X 25 75
MS80x120 | 80 | 120 | 24 28 38 134.4 5300 182 124 14 M10x 25 75
MS85x125 | 85 | 125 | 24 28 38 153.6 6500 196 133 16 M10 X 25 75
MS90x130 | 90 | 130 | 24 28 38 153.6 6900 181 128 16 M10x 25 75
(EF2]mm) MS95x135 | 95 | 135 | 24 28 38 172.8 8200 196 139 18 M10 X 25 75
MS 100X 145| 100 | 145 | 26 33 45 197.4 9870 198 139 14 M12 %30 130
Dimension(mm) Torque Weight MS 110X 155| 110 | 155 | 26 33 45 187.4 10800 181 128 14 M12 %30 130
kgf.m) (kg MS 120X 165| 120 | 165 | 26 33 45 225.6 13500 187 139 16 M12 %30 130
-n-_ kg MS 130 180| 130 | 180 | 34 38 50 282 18300 168 119 20 M12 % 35 130
MS 25 25 28.0 7><7 4-M6 x 30L 22 1.0 MS 140 190| 140 | 190 | 34 38 50 310.1 21700 168 128 22 M12 %35 130
MS 30 30 105 60 33.0 1.6 7x7 4-M6 x 30L 30 15 MS 150 200| 150 | 200 | 34 38 50 3384 25300 170 128 24 M12 % 35 130
MS 35 35 120 70 38.3 1.6 10x8 4-M8 x 35L 40 2.5 MS 160X 210 | 160 210 34 38 50 366.6 29300 171 132 26 M12 X 35 130
MS 40 40 140 80 433 16 10x8 6-M10 x 40L 55 39 MS 170%x225| 170 | 225 | 38 44 58 389 33000 162 123 22 M14 x40 207
MS 45 45 160 90 48.3 1.6 12x8 6-M10 x 45L 70 5.6 MS 180x235| 180 235 38 44 58 424 38000 168 128 24 M14 X< 40 207
MS 50 50 176 100 533 2.0 12x8 6-M10 x 451 95 72 MS 190 250| 190 | 250 | 46 52 66 495 47000 154 114 28 M14 X 45 207
MS 55 55 180 110 60.0 2.0 15%10 6-M10 x 451 120 96 MS 200260 | 200 | 260 | 46 52 66 531 53000 157 118 30 M14 X 45 207




+ =2 M=bxbx| Power Transmission Part 76 MUSSO POWER SYSTEM 77

MS oS, £=Fl0] (Casting handwheel, Grip) MS 2t VE2| (v-belt pulley)

— o
5 ¢ JL .
— 4 ‘M
L2 L1
L
o
B.D ‘ . .
A
‘ FE SHE X|$£H (Casting handwheel) \Qj - % i
=H2]:mm)
—
_““--—
MS 80
MS 100 @100 @40 27 37 14 QG £h2{:mm)
o e = Z . . o _“--_-
MS 140 @140 @43 32 44 17 6.5
MS 150 @150 @46 345 465 18 @65 0 Olat 34+ 05 o2
WSKTeE 160 53 o 61 T o A 100 &1 r 5 0|5t 36+ 05 9.2 as™ 8.0 150 + 0.4 100 + 1
MS180 7180 @55 ) 525 20 @7 125 Zofet= A 38+ 05
MS 200 @200 @56 425 58 2 @7 150 el 3405 e
MS 225 0225 261 39 5 2 o7 B 160 &3t 200 0|3t 36+ 05 125 557 95 19.0 + 0.4 125+ 1
MS 250 @250 @66 47 67 24 @8 200 =utot= A 38 £ 0.5
MS 300 @300 @70 50 66 27 @10 250 Ofst 34+ 05 03
WEEET . o e 25 o . C 250 &3} 315 0|5t 36+ 05 169 ot 120 255 + 05 17.0 + 1
MS 400 @400 @90 55 80 30 @10 315 Zaltot= A 38 + 0.5
Ms 460 @460 @100 62 83 31 @10 D 450 0lsf | 36+ 0.3 246 95+ 04 155 20+
MS 510 @510 @110 58 91 40 @10 450 Z=ifot= A 38 £ 0.5 0 37.0 £ 05 -1
s ARAREE hafo] 202 F47] whzhet
EZ0| X[+ (Grip) &ﬂ%‘- 2 =Ho| XIFFHEX}, A2l HEXt
CHR{:mm) (E+2{:mm)
MSG-6 M6 X 1.0 13.1 62.7 11803t + 0.
MSG-8 20 M8 1.25 166 60 102 873 125 0|44 300 0|5t + 038
MSG-10 25 M10X1.5 172 717 103 103.2 315 0|4 630 03t +12
MSG-12 31 M12X1.75 212 91 12.1 128.9 710 olA +16




+ S2AXMEZEX| Power Transmission Part 78 MUSSO POWER SYSTEM 79

HEY FX(FH, FL8)E Coupling 7Y, #24¥H Torque H|WE

(TORQUE &9 : kg - m)

GEAR CPLG DISK CPLG JAW CPLG RUBBER CPLG | FLANGE CPLG | CHAIN CPLG GRID CPLG

050 04 ‘
1 070 1 60 1 100 1
0010 1.5 112 1.6
2 125 2.5
3 25 100 3
05 3.4 0020 3.4
4 20 4.9
5 140 5
6
7 2035-A 12 3812 7.74
8 135 8
9 10 9.2
10 4012  16.85 30 13.8
2035 19 180 15 180 16.07 4014 16.85
20 20 25 200  25.03 40 23.04
30 210 30 4016  30.1
40 25 43 2035 32 224  40.03 50 4033
50 5014 57.08
5016 57.08
60 112 61 250 63.02 60  63.37
70 30 79 3545 65 265 75 5018 72.37
80 10 85.94
920 4560 90 70  92.17
100 125 115 35 130 310 125 280 100.3 6018 135.36
140 175 15 193.37 6070 125 315 160.71 6022 183.11 80 190.1
200 160 280 40 210 400 275 355  250.32
300 20 358.1 45 340 7080 293 8018 301.94 90 345.64
400 180 425 400 400.31 8022 433.43
500 50 500 450 500 100 581.83
600 200 665 25 644.6 55 650 450 630.2 10022 681.8
700
800 224 860 110 864.1
900
1000 250 1290 30 10743 8090 990 550 1000 560 1000.3 12018 1022.7 120 1267.4
35 16473 630 1600.3 12022 1324.7 130 18434
2000 280 2010 40  2506.7 700 2000 16018 2211 140 2650
315 2690
3000 355 3930 45 3438 16022 3244 150 3687
4000 50 4655.3 20018 4422
5000 400 5080 20022 55713 160 5185
6000 55 6088 HP 170 6913
7000 o 7878 TORQUE=7162 X 0. X SF(kg.m)
8000 450 8000 KW
9000 =974 X ooy X SFkgm) 180 9586
10000 500 12000 70 11459 190 12674
560 18800 80 15040 oL ALAL 5190] EAdnl DF2l DS 200 17282
20000 | 630 26500 90 20412 ATV TR =SS0 B HEE A
Apply proper safety faitor
100 28648 . .
30000 110 39391 accordingly f':n‘ten the chanacteristics
40000 710 41000 of the machines to be coupled
50000 800 55000 80 50134
s FEAZ 7hs sk GARR A7 Bigy )




MUSSO POWER SYSTEM 81

[ﬁ'ﬂ‘_..v.mﬁvt‘fﬂi.»lﬂW“"’ £
R




+ =ZZEZ447| Worm Reducer 82 MUSSO POWER SYSTEM 83

= = 2= ispositi PC+NMRV Combinati
H|=Z0|| (2 DEE% (Predisposition) + ombinations
PC063 PCO71 PC080 PC090
7
63B14 71B14 71B14 80B14 80B14 100B14 80B14 100814
I i 25 (e} (@)
= B! bni 30 @) (e}
== & 53 & N | RIZ|=Z|a 40 O (@)
= 2 o 040 50 o /
© © 60 o /
] AR I 80 o /
100 o /
© G
A N ./ = 7 25 / o o o
H € 30 / o o o
| 40 / o o /
050 50 / o o /
60 / o o /
80 / o o /
Ry i, o ] 100 o / / /
IEC 75 | 10 | 15 [ 20 | 25 | 30 mm“ 100 25 / / / o
025 56814 50 | 65 | 80 9 9 9 9 - 9 9 9 9 - - 30 / / / o
6385 95 | 115 | 140 | 11 1 11 11 11 11 1 11 : = 2 40 / o o o
030 63814 60 | 75 | 90 063 50 / o o o
5685 80 | 100 | 120 | 9 9 9 9 9 9 9 9 9 9 - 6o , 5 ° 5
56B14 50 | 65 | 80
71B5 110 | 130 | 160 | 14 14 | 14 | 14 | 14 14 14 - - - - 80 / © © /
71B14 70 | 8 | 105 100 / o o /
040 6385 95 | 115 | 140 | 11 1 1 1 11 1 1 1 1m | n 1 75 / s 5 /
63814 60 | 75 | 90 30 I o o .
5685 80 | 100 | 120 | - - - - - - - 9 9 9 9 10 , .
80B5 130 | 165 | 200 | 19 19 19 19 | 19 | 19 . . © ©
80B14 80 | 100 | 120 075 50 / o o /
050 71B5 110 | 130 160 | 14 | 14 | 14 | 14 | 14 | 14 | 14 | 14 | 14 | 14 - 60 / o o /
71B14 70 85 105 80 / o o /
6385 95 | 115 | 140 | - - - - - - 11 11 1M | n 11 100 . o 5 ;
9085 130 | 165 | 200 | 24 | 24 | 24 | 24 | 24 | 24
90B14 95 | 115 | 140 25 / o o !
063 80B5 130 | 165 | 200 19 19 19 19 19 19 19 19 19 - - 30 / o o /
80B14 80 | 100 | 120 40 / o o /
71B5 110 | 130 | 160 | - - - - - - 14 | 14 | 14 | 14 14 090 50 / o o /
71B14 70 | 8 | 105 o / 5 5 ,
10011285 | 180 | 215 | 250 | 28 | 28 | 28 - - - - - - - -
100/112B14 | 110 | 130 | 160 80 / © © !
9085 130 | 165 | 200 | 24 | 24 | 24 | 24 | 24 | 24 | 24 - - - - 100 / o o /
075 90B14 95 | 115 | 140 25 / o / /
80B5 130 | 165 | 200 | - = = 19 | 19 | 19 | 19 | 19 | 19 | 19 19 30 ; o ; o
80B14 80 | 100 | 120 0
7185 10 | 130 | 160 | - . - - - ; . 14 | 14 | 14 | 14 / © / ©
100/112B5 180 | 215 | 250 | 28 28 28 28 28 28 - - - - - 110 50 / o / o
100/112B14 | 110 | 130 | 160 60 / o / o
090 9085 130 | 165 | 200 | 24 | 24 | 24 | 24 | 24 | 24 | 24 | 24 | 24 - - 30 / ° / o
90814 95 | 115 | 140 100 / o / /
80B5 130 | 165 | 200 | - - - - - - 19 | 19 | 19 | 19 19
80B14 80 | 100 | 120 25 ! o
13285 230 | 265 | 300 | 38 | 38 | 38 | 38 = - . . . = . 30 / o
110 100/112B5 | 180 | 215 | 250 | 28 | 28 | 28 | 28 | 28 | 28 | 28 | 28 | 28 - - 40 / I
9085 130 | 165 | 200 | - - - - 24 | 24 | 24 | 24 | 24 | 24 24 130 50 / o
80B5 130 | 165 | 200 | - - = : : - = = : 19 19 6 | 5
13285 230 | 265 | 300 | 38 | 38 | 38 | 38 | 38 | 38 | 38 - - - -
130 100/112B5 | 180 | 215 | 250 - - - - 28 28 28 28 28 | 28 28 80 / <
9085 130 | 165 | 200 | - - - - - - - - - 24 24 100 / o




+ S35Z%7] Worm Reducer 84 MUSSO POWER SYSTEM 85

PC+NMRV Combinations NMRV 025 Dimensions

=
o0
L=]

P2

[l

N
Tk

o L—_{;}j‘i
1 =1RCAGI

=
\
f}

i
sl
i
e
1
)

2458,

[r B
A1
—
i :

%

|

¥ia

I Lfk‘

c

] Jan =
) . o .
®6.5 =
PC063 63B5 70 34
42
PC071 3 14(19) 80 100 120 M6 3 30 71B5 45
50
PC080 3 19(24/28) 110 130 160 M8 3 40 80B5
PC090 2.43 24(19/28) 110 130 160 M8 3 50 90B5

oo

4 \& :
(oyg P \j ~e il
o11(18) ™ 17 é{ 7 L il

70 435

Motor Type

45

.
i

128

BA0(HE)

.

o[

B14
W 56B®9 1/8 HP 63B®11 1/4 HP 71B® 14 1/2 HP 80B®19 THP
100*120 115*140 130*160 165*200
B14 65*80 75%90 85%105 100*120
m 90Bd24 2 HP 100B®28 3 HP 112B®28 5 HP 132B038 7.5HP

B5 165*200 215%250 215%250 265*300

B14 115*140 130*160 130*160




+ =ZZEZ27| Worm Reducer 86 MUSSO POWER SYSTEM 87

NMRYV 030-130 Dimensions NRV 030-130 Dimensions
. 4 M 0 K
2 } ? . J
| m | I \ ( i
e e = __i_‘_ —H‘*—
S Sm=na=
L1 L1

040
050
063
075
090
110
130
150

14
100 121.5 70 60 18(19) 60 43 A 75 36.5 70 78
120 144 80 70 25(24) 70 49 85 85 43.5 80 92
144 174 100 85 25(28) 80 67 103 95 53 95 112
172 205 120 90 28(35) 95 72 112 115 57 112.5 120
206 238 140 100 35(38) | 110 74 130 130 67 129.5 140
255 295 170 115 42 130 - 144 165 74 160 155
293 335 200 120 45 180 = 155 215 81 179 170
340 400 240 145 50 180 - 185 215 96 210 200

50
60
72
86
103
127.5
146.5
170

715
84
102
119
135

167.5

187.5
230

40
50
63
75
90
110
130
150

M6x11(n=4) 5 16.3
040 87 55 6.5 26 6.5 35 M6x8(n=4) 6 20.8(21.8) 45° 2.3
050 100 64 85 30 7 40 M8x10(n=4) 8 28.3(27.3) 45° 3.8
063 110 80 85 36 8 50 M8x14(n=8) 8 28.3(31.3) 45° 6.2
075 140 93 1" 40 10 60 M8x14(n=8) 8(10) 31.3(38.3) 45° 9
090 160 102 13 45 1 70 M10x18(n=8) 10 38.3(41.3) 45° 13
110 200 125 14 50 14 85 M10x18(n=8) 12 453 45° 425
130 250 140 16 60 15 100 M12x21(n=8) 14 48.8 45° 59
150 250 180 18 725 18 120 M12x21(n=8) 14 53.8 45° 87
NOTE : 1.PIs refer to our Catalogue Electric Motor for the size of X&Y

2.Weight(kg) : Without the weight of motor

RN aDNOnoononon

030
040
050
063
075
090
110
130
150

100 121 5 70 60 (1 9) 1 1 60 43 71 75 36.5 60 23 78 50 71 .5 40
120 | 144 80 70 |25Q24)| 14 70 49 85 85 435 | 74 30 92 60 84 50
144 | 174 | 100 | 85 |25(28)| 19 80 67 103 | 95 53 90 40 112 72 102 63
172 | 205 | 120 9 |28(35)| 24 95 72 12 | 115 57 105 50 120 | 86 119 75
206 | 238 | 140 | 100 |35(38)| 24 110 74 130 | 130 67 125 50 140 | 103 | 135 90
255 | 295 | 170 | 115 42 28 130 - 144 | 165 74 142 60 155 | 12751675 | 110
293 | 335 | 200 | 120 45 30 180 = 155 | 215 81 162 80 170 | 146.5 | 1885 | 130
340 | 400 | 240 | 145 50 35 180 - 185 | 215 96 195 80 200 | 170 | 230 | 150

87
100
110
140
160
200
250
250

040
050
063
075
090
110
130
150

55
64
80
93
102
125
140
180

M6x11(n=4) 5 3 16.3 10.2

6.5 26 6.5 35 M6x8(n=4) 6 4 20.8(21.8) 12.5 =

8.5 30 7 40 M8x10(n=4) 8 5 28.3(27.3) 16.0 M6
8.5 36 8 50 M8x14(n=8) 8 6 28.3(31.3) 21.5 M6
1 40 10 60 M8x14(n=8) 8(10) 8 31.1(38.3) 27.0 M8
13 45 1 70 M10x18(n=8) 10 8 38.3(41.3) 27.0 M8
14 50 14 85 M10x18(n=8) 12 8 45.3 31.0 M10
16 60 15 100 M12x21(n=8) 14 8 48.8 33.0 M10
18 72.5 18 120 M12x21(n=8) 14 10 53.8 38 M12

45°
45°
45°
45°
45°
45°
45°
45°

2.3
3.8
6.2
9
13
42.5
59
87

NOTE : Weight(KG): without the weight of motor.




+ =ZZEZ27| Worm Reducer 88 MUSSO POWER SYSTEM 89

PC+NMRV Dimensions NMRV+NMRV Dimensions
il
,/— o K J i
/ = L
s/ | =l i § S S b =i
- == \ / -E=n== ml
&
¢ X |
A L1 H2 [ | M i
o 5 o Al
LT g0 ==
1 = = z
o o 2B = i A \QO ol = ©
| 1 M Lud
2 S el | >ls .
I L il g i
F
z H1 | H1
-II---IIIIIIMIIHII L
063/040 100 | 121.5 18(19) 36.5 123 715

063/050 120 | 144 80 70 70 49 85 85 435 | 133 40 92 60 84 50 1 00
071/050 120 | 144 | 80 70 |25 70 49 85 85 435 | 143 50 92 60 84 50 100
063/063 144 | 174 | 100 85 |25(2 80 67 103 95 53 148 40 112 72 102 63 110

25(24)
(24)
(28)
071/063 144 | 174 | 100 | 85 |25(8)| 80 | 67 | 103 | 95 | 53 | 158 | 50 | 112 | 72 | 102 | 63 | 110
(35)
(35)
(38)
(38)

N
S

071/075 172 | 205 | 120 | 90 (283 95 | 72 | 112 | 115 | 57 | 176 | 50 | 120 | 8 | 119 | 75 | 140 NMRV o c1 |D(H7) D16 Ehe) | n i
080/075 172 | 205 | 120 | 90 (283 95 72 | 112 | 115 | 57 | 186 | 63 | 120 | 8 | 119 | 75 | 140 +NMRV
071/090 206 | 238 | 140 | 100 [35(38)| 110 | 74 | 130 | 130 | 67 | 193 | 50 | 140 | 103 | 135 | 90 | 160 030/040 | 100 1215 18(19) 365 120 715

080/090 206 | 238 | 140 | 100 | 35(3

10 | 74 | 130 | 130 | 67 | 203 | 63 | 140 | 103 | 135 | 90 | 160 030/050 | 120 80 144 80 70 25(24) 9 70 49 85 85 435 29 55 51 zo 130 92 60 40 84
040/090 | 206 | 100 | 238 | 140 | 100 35(38) 11 | 110 | 74 | 130 | 130 | 67 | 365| 70 | 60 | 23 | 182 | 140 | 103 | 50 | 135
““---_“_-- 050/110 | 255 | 120 | 295 | 170 | 115 | 42 | 14 | 130 | - | 144 | 165 | 74 |435| 80 | 74 | 30 | 225 | 155 [1275| 60 |1675
063/130 | 293 | 144 | 335 | 200 | 120 | 45 | 19 | 180 | - | 155|215| 81 | 53 | 95 | 90 | 40 | 245 | 170 |146.5| 72 |187.5
063/040 M6x8(n 6 20.8(21.8)
063/050 64 8.5 30 7 40 M8x1 O(n 4) 8 28.3(27.3) 45° 5.2
071/050 64 8.5 30 7 40 M8x10(n= 4) 8 28.3(27.3) 45° 5.8 NMRV b1
A RSN A A ElIDnENNENERRnEENnnn
071/063 80 85 36 8 50 M8x1 4(n 8) 8 28. 3(31 .3) 45° 8.5 030/040 M6x8(n 45° 20.8(21.8) | 10.2
071/075 93 1 40 10 60 M8x14(n=8) 8 31.3(38.3) 45° 11.3 030/050 57 50 30 100 64 8.5 30 7 40 M8x10(n =4) 45° 8(8) 3 28.3(27.3) | 10.2 - 5.0
080/075 93 1" 40 10 60 M8x14(n=8) 8(10) 31.3(38.3) 45° 13.1 030/063 57 63 30 | 110 | 80 85 36 8 50 | M8x14(n=8) | 45° | 8(8) 3 28.3(31.3) | 10.2 - 7.8
071/090 102 13 45 1" 70 M10x18(n=8) 10 38.3(41.3) 45° 15.3 040/075 715 75 40 | 140 | 93 1 40 10 60 | MB8x14(n=8) | 45° | 8(10)| 4 31.338.3) | 12.5 - 12.0
080/090 102 13 45 11 70 M10x18(n=8) 10 38.3(41.3) 45° 17.2 040/090 | 71.5| 90 40 | 160 | 102 | 13 45 1" 70 |M10x18(n=8)| 45° 10 4 38.3(41.3) | 125 - 16.0
080(090)/110 125 14 50 14 85 M10x18(n=8) 12 453 45° 39 050/110 84 | 110 | 50 | 200 | 125 | 14 50 14 85 |M10x18(n=8)| 45° 12 5 453 16.0 | M6 | 39.2
080(090)/130 140 16 60 15 100 M12x21(n=8) 14 48.8 45° 52.2 063/130 102 | 130 | 63 | 250 | 140 | 16 60 15 | 100 |M12x21(n=8)| 45° 14 6 48.3 215 | M6 | 55.0
NOTE : 1.Pls refer to our catalogue Electric Motor for the size of X&Y NOTE : 1.Pls refer to our catalogue Electric Motor for the size of X&Y
2.Weight(KG):without the weight of motor 2.Weight(KG):without the weight of motor




+ Z2ZEA47| Worm Reducer 90

OUTPUT FLANGE Dimensions

PC

&)
PQ

PN

[t ==

FB

N R N N
PA 90 82

54.5 67 111 111 139 140 155
PB 6 7 9 10 13 13 15 15 15
PC 4 4 5 6 6 6 6 6 6
PN 50 60 70 115 130 152 170 180 180
FA(F) PM 68 75 85 150 165 175 230 255 255
PO 6.5(n=4) 9(n=4) 11(n=4) 11(n=4) 14(n=4) 14(n=4) 14(n=8) 16(n=8) 16(n=8)
PP 80 110 125 180 200 210 280 320 320
PQ 70 95 110 142 170 200 260 290 290
al 45° 45° 45° 45° 45° 45° 45° 45° 22.5°
PA - 97 120 112 - 122 - - -
PB - 7 9 10 - 18 - - -
PC - 4 5 6 - 6 - - -
PN - 60 70 115 - 180 - - -
FB(FL) PM - 75 85 150 - 215 - - =
PO - 9(n=4) 11(n=4) 11(n=4) - 14(n=4) - - B
PP - 110 125 180 - 250 - - -
PQ = 95 110 142 - - - . ;
al - 45° 45° 45° - 45° - - -

NRV Dimensions

EEEEIEEEEENER
030 45 9 20 -

3 10.2
040 53 1" 23 = 4 12.5
050 64 14 30 M6 5 16
063 75 19 40 M6 6 215
075 90 24 50 M8 8 27
090 108 24 50 M8 8 27
110 135 28 60 M10 8 31
130 155 30 80 M10 8 33
150 175 35 80 M12 10 38

MUSSO POWER SYSTEM 91

OUTPUT SHAFT Dimensions

AS AB

N A N A N AU
025 1 23 50 81 -

255 101 4 12.5
030 14 30 325 63 102 128 M6 5 16
040 18 40 43 78 128 164 M6 6 20.5
050 25 50 53.5 92 153 199 M10 8 28
063 25 50 535 112 173 219 M10 8 28
075 28 60 63.5 120 192 247 M10 8 31
090 35 80 84.5 140 234 309 M12 10 38
110 42 80 84.5 155 249 324 M16 12 45
130 45 80 85 170 265 340 M16 14 485
150 50 82 87 200 297 374 M16 14 53.5

TORQUE ARM Dimensions
SN ENENEEER

175 8 4
= e 030 85 14 24 8 15 4
040 | 100 14 315 10 18 4
050 | 100 14 385 10 18 4
063 | 150 14 49 10 18 6
075 | 200 25 475 20 35 6
090 | 200 25 57.5 20 35 6
110 | 250 30 62 25 40 6
130 | 250 30 69 25 40 6




+ S35Z47] Worm Reducer 92 MUSSO POWER SYSTEM 93

PAM B5-Dimensions CHEH 27 | (variator)
THE DIMENSIONS OF THE PROFILE FOR B3 FORM
bm \ 1 % . KD KD ,
\ iﬁ‘ KA
i L
! . = | i
— 7. Sy,
— — £ f“, J N | I o b % Q | !
\ 1 ,
Dm \r = B e [ 1 o,
-~ |
’_4 ol
=== [ -l
M2 |
- - LM
H1 H
-—-—-m- -ﬂllﬂllﬂlﬂll
Pm 120 140 160 UDL002 105 | 175 145 | 120 | 87.5 |135.5 110 111 110 | 110 125
Dm 9 11 14 19 24 28 28 38 42 48 55 UDLO005 30 [ 104 | 20 14 93 | 149 | 125 | 104 | 140 | 120 | 96 9 71 123 | 90 | 110 | 110 | 85 5) 16 10
bm 3 4 5 6 8 8 8 10 12 14 16 uUDL010 40 | 125 | 26 19 | 113 | 190 | 150 [125.5| 179 | 160 | 135 1 79 | 140 | 107 | 120 | 120 | 110 6 215] 15
tm 10.4 12.8 16.3 21.8 27.3 31.3 31.3 413 453 51.8 59.3 UDTO020 50 | 140 | 49 24 | 125 | 241 | 150 | 165 | 222 | 180 | 143 | 12 - 144 | 122 | 150 - 110 8 27 18
UDTO030 60 230 | 25 28 | 150 | 300 | 270 | 191 | 268 | 245 | 190 14 - 188 | 150 | 160 - 110 8 31 25
NMRYV (110+130) tm= 40.3 (IEC 132)
UDTO050 70 | 250 | 33 38 | 200 | 365 | 290 | 201 | 319 | 315 | 245 | 18 - - 192 | 194 - 110 | 10 41 30
Note: Pls refer to our catalogue Electric Motor for the size of X & Y.
PAM B14 - Dimensions THE DIMENSIONS OF THE PROFILE FOR B5 FORM
M . G3 KA
E : o ]
| L TN Wil T BE
| . = o | O 2
T : L o9 = L
1L T
— — E —J——f — E G—ZDE I — -t -
1 ! P
\ i\ . GEE
Dm \r X
- | T o1
f‘ ey e
M1
H
-ﬂlﬂllﬂMﬂﬂﬂllﬂl
UDL002 112.5 64.5 115 140 (NA 110 | 110 125
Pm 80 90 105 120 140 160 160 200 UDLO05 | 30 | 40 | 53 | 14 | 80 | 110| 74 | 90 | 130 77 |110| 9 | M8 |160 | 3.5 | 71 | 123| 90 | 110 | 110| 8 | 5 | 16
Dm 9 1 14 19 24 28 28 38 UDLO10 | 40 | 58 | 60 | 19 | 100 | 139 |85.5| 98 | 165| 84 | 130 | 11 | M8 | 200 | 3.5 | 79 | 140 | 107 | 120 120|110 6 |21.5
bm 3 4 5 6 8 8 8 10 UDTO020 50 - - 24 | 126 | 188 | 115 | 241 | 165 - 130 | 11 - 1200 |35 - 144 | 122 | 150 - | 110 8 27
tm 10.4 12.8 16.3 21.8 27.3 31.3 31.3 413 UDT030 | 60 - - 28 | 150 | 208 | 131 | 270 | 215 - 1180 | 15 - 1250 | 4 - 188 | 150 | 160 - 110 | 8 31
uUDT050 | 70 - - 38 | 200 | 244 | 131 - 265 - 230 19 - 1300 5 - - 192 | 194 - | 110 10 | 41
NMRYV (110+130) tm= 40.3 (IEC 132)
Note: Pls refer to our catalogue Electric Motor for the size of X & Y.




+ =ZZEZ447| Worm Reducer 94 MUSSO POWER SYSTEM 95

NMRYV + VARIATOR Dimensions B E{ (Motor)

; ez i X KD1 KD
! G3 | KA
A =
y T a olht H.
; o= i 5
== =:zIp ! oo A RAON
}c mu o
—||,l] H——H 1l & i1
& =
iO' (&) ) o O|
o, b I_\ = (| (1
i — = =
i [ 1 1 j
PE
c I — C|1
P (2!
H1_| _H1
| I8 G

PA
O
°’ O ﬁ -gPC
22
=

QQ ) o | 5
& : A 3
: __ J 02- & | 1._PB e
< ; | [

1
PN

General

H
I

DO I C I
56 9
80 97 54 44 14 55 32 56 65 29 63 40 57 30

NMRV75+UDL010 172 | 205 | 120 9 | 28(3
NMRV075+UDT020 | 172 | 205 | 120 90 | 28(35
NMRV090+UDLO10 | 206 | 238 | 140 | 100 | 35(38

95 72 112 | 3005 | 227.5 | 115 57 120 86 119 75
110 74 130 | 2685 | 215 | 130 67 140 | 103 | 135 90

7 3 80 50 65 M5 2.5

20 3 7.2 10.2 196 88 88 117 100 1-M16X1.5
NMRV030+UDL002 167.5 | 1195
63 " 23 4 8.5 12.5 220 94 94 130 108 1-M16X1.5
NMRV040+UDL002 | 100 | 121.5| 70 60 | 18(19)| 60 43 Al 1825|1345 | 75 365 | 78 50 715 | 40
Al 14 30 5 1" 16 241 94 94 139.6 108 1-M20X1.5
NMRV040+UDL005 | 100 | 121.5| 70 60 | 18(19)| 60 43 Al 180 | 144 75 365 | 78 50 715 | 40
80 19 40 6 15.5 215 280 97 97 158 140 1-M20X1.5
NMRV050+UDL002 | 120 | 144 80 70 | 25(24)| 70 49 85 | 1925|1445 | 85 435 | 92 60 84 50
90S/L 24 50 8 20 28 325/350 97 97 176 150 1-M20X1.5
NMRV050+UDL005 | 120 | 144 80 70 | 25(24)| 70 49 85 190 | 154 85 435 | 92 60 84 50
100 28 60 8 24 32 388 118 118 199 165 2-M20X1.5
NMRV063+UDL005 | 144 | 174 | 100 85 | 25(28)| 80 67 103 | 205 | 169 95 53 112 72 102 63
112 28 60 8 24 32 405 118 118 220 179 2-M25X1.5
NMRV063+UDLO10 | 144 | 174 | 100 85 | 25(28)| 80 67 103 | 234 | 1805 | 95 53 112 72 102 63
132S/M 38 80 10 33 43 467/505 118 118 259 200 2-M25X1.5
NMRV075+UDL005 | 172 | 205 | 120 9 | 28335 | 95 72 112 | 2225|1865 | 115 57 120 86 119 75
(
(
(
(

)
)
)
5/ 9 | 72 | 112 | 2515|198 | 115 | 57 | 120 | 86 | 119 | 75
)
)
)

NMRV090+UDT020 | 206 | 238 | 140 | 100 | 35(38

NMRV110+UDLO10 | 2525 | 295 | 170 | 115 | 42 | 130 | - | 144 | 299 | 2455 | 165 | 74 | 155 | 1275|1675 110 56 120 80 100

NMRV110+UDT020 | 2525 | 295 | 170 | 115 | 42 | 130 | - | 144 | 348 | 275 | 165 | 74 | 155 | 1275 | 167.5 | 110 63 140 95 115 10 3 90 60 75 M5 25

NMRV110+UDT030 | 2525 | 295 | 170 | 115 | 42 | 130 | - | 144 | 368 | 291 | 165 | 74 | 155 | 1275|1675 110 7 160 110 130 10 35 105 70 85 M6 25

NMRV130+UDT020 | 2925 | 335 | 200 | 120 | 45 | 180 | - | 155 | 368 | 295 | 215 | 81 | 170 | 1475 | 187.5 | 130 80 198 130 165 12 35 18 80 100 M6 3.0

NMRV130+UDT030 | 2925 | 335 | 200 | 120 | 45 | 180 | - | 155 | 388 | 311 | 215 | 81 | 170 | 1475 | 1875 130 90S/L 198 130 165 12 35 138 95 115 M8 3.0
100 250 180 215 15 4.0 158 110 130 M8 35
112 250 180 215 15 4.0 158 110 130 M8 35

132S/M 300 230 265 15 4.0 198 130 165 M10 35




MUSSO POWER SYSTEM 97

o
©
2
()
S
o
=
D
=1
=
(T

Technology




+ 3|== RENOLD Superior Chain Technology 98
Renold Products Unique quality and performance
X9 7128 ME Zoloio] 0|0 & Al Package solutions
Renolde X MAXCZ 1 7Ix|S ¢QlxEre Renold= 130\ 0|4 SHMIEX| MAS & AL SHXE AABIS| JHEE 7[0f, 2/
A1 Know howE Saoff SAXMo|T &5 o ™ MlA CrEst Aol ET ALNSS ZiH[0]0], ZE{0fl O|Z27|7HX| IDALN 2F
ol Hlge= YAl sH&zE XAloto] =L A AS Renold 11 0|2 S¢t Stalst StAl= At0l| CHet ZE MUIAE XS =2
B SAEZH MElY UBE0 Xl Know hows ILIE

Sofl 2 7IXIE D JUSLICE

Renoldi= T24Ajol| £m9| AH|A% ofLiat x|
£xi01 22 BB

Renoldi= CIB AioAfel 71ag 3 o]
2 Zain & Alls 2 HAAYO| ZEE

ti “”l | A

il

Jm
&
on
§I|=l

M
2
B
o
rx

Renoldi TZAfe| S#3t 250 £S5t ¥
B SHaRNE H Mejsol) ZA MM
4 9l 528 Im Ysuict

Original patent drawing
1880 for bush roller chain

Renold =2 © M7l 2™ EMN 2As4

=

— 20711 27t ol&<] HOfS|AL

— 10004 7 =7toll HA QU= shel ch2ly 2t
=W/ HEHRE Safl & M S
YA MES Lo Mot AsLICE

Renold A|2IZ&2 ISO 900120005 =53
on, A2l MASE2 IS0 14001:20045

MUSSO POWER SYSTEM 99

Transmission chain Solution range overview

Aol 5mH XEy 124 81t 53 A5l 2R E= PEF FEHEM A
2 MISELIC Renold Synergye= Z Qlo] YHE IS 4 JUE HIX|
AO| HX|AZ} 2|10 MMES TH| orgst MQldLct of Hele = 7Hx|
A Al oS LIC 2| EfJ0] %'QEH 7 Mz

Stainless Steel

Renold E2{#|Ql2 Z-X0(1 7+3 Renold Stainless 212 SAl0f chst
Q| Q= ME EXg #F1 sy AN FABOE 25t MEMS 7t
Ch E5t Renolde 1749| 230 ofst KA MAZ B

ELAQI AldE FIHHQl 235 — AbYI A7 HEfQ] SHE0IA XE
E4AQl AYE Salf nHS0A HE ts
St MSsta UBLICE - &t SZoIM ME

- U AERI2|A E2

- ZH2 2& olo= 288 4

=759

Roll-ring

HES £ AH0] Uz SR

Roll-ring A|2! Tensioner= 11 £0f0]|

Mol M2 #2lE EZ tEE=

7he dTlst E 71EE 0l8oo] MR
S

-Service

T
<

o

=

1z

of chet zchel MatE JiKl= &

S35t Renold hydro service=
\'nless Al tHZo2 M8E 4
Lict,

fjo

S}

:0 @ ol 41

o>

Renold
Renold E2f A2l =2 124 HlA
E Ziet 420 CHE 274 &elof H]

8 4 &2 WS ABeH S

Smart link

im

FO 02 40 & o onE
_)‘-(_\
o
o
AT
1z
AN}
>

In o
i1
Ho
B‘F
fjo
i
oA
o~
N
4o
o
[l
m

i oo
>
:%m\m
L o
= o)
u >
7%
2
o
N
Y
S

>
=

re
mu o o

i -
njo

Nickel plated

Renold Nickel plate |12 E&5t At
Yoz ™ A MEXIES Saff Ykt
HOl HA Ao O 2 TS 5

HolitsLch

2iop ghlo] 22 MBC| ¥EE 2
2 Qs SEARREH S A
i "eErsRl Mol HIZ Ri&E

2ldg 8t Renold Sdto| 7+sE

Renold Leaf Chain

Renold= 100 049 Leal
FAIet Ha|e] ZES THX|1 @
AAIE HEel BE ChuSt JH|Q
EXE0A A=Y 4 = Renold
BrandZ Eaff otxisle

Lict




